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COMBINED TECHNICAL SERVICES EXAMINATION
(NON-INTERVIEW POSTS)
COMPUTER BASED TEST
PAPER - II - CHEMISTRY

(DEGREE STANDARD) (CODE: 430)



Identify the correct relationship among electrical energy (E),

temperature co-efficient [g—gJ and enthalpy (AH) of the cell

p
reaction (AG)

Ber so cdaandad (AG), Bar epppsd (E). Qauuu Gamsw [g—?] Lo miLh
p

arangmd (AH ) e dwusupfpde Guuner Ggrmimer ser_fs

(A/ E:_é_g_{_T[a_E] (B) E:_A_H__}_HF[_&_)E)
nk oT o T aT p

(©) E:AH—T(BE] D) E=£+nF(a—E]
“wF\oT), - =T oT ) -

(E) Answer not known
e Gsflueicene

- The molar conductance of a strong electrolyte increases, with
increase in ‘ ' )
Spssan_aes ofafsgn Gurg, @nm iflun Vg Weaugellar Gumem
sL5815 Hoent Haflsgh

(1) Dilution

Bisse
(2) Concentration
Glagley
(3) Viscosity
LUM&HS ST
(4) Potential gradient
1Sletr (PSSD
(A (2) only (B) (3) only
(2) b ' 23) WL HIb
© (2 and (3) (DY (1) and (4)

(2) wogiod (3) (1) wpmiod (4)

(E) Answer not known
elen Ggflwelcrana
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3. Ostwald’s dilution law is applicable for the following electrolyte
peveurl Brssd ofldl erhg Wer u@ellsae 2 sbss

(A) Hydrochloric acid (B Ammonium hydroxide
ananl GrrsGarmila ol G raiud eanl Frsme()

(C©) Sodium hydroxide (D) Potassium chloride
Gemguid eaml Fréened() Qum_Lrflww sCearmenF(h

(E) Answer not known
alenL Qgflueicdensy

4.  The tendency of an electrode to lose or gain electrons when it is in

contact with its own ions in solution is
@ Barpeamenunarg s@rFd g anps SwWels@Eper @gmiy
Qamer@enbCuUrg sl grarsamer @W&as Aowg duneisharer Gumss,

(A/ Electrode Potential (B) Oxidation Potential
. leTpanaT <y,Hmed . 2,58Carhn Soer
(C) Reduction Potential (D) Single Electrode Potential

&L Hpen phon BHarsss pHnd

(E) Answer not known
clenL. Qgilwalidana

5.  The product of cell constant and conductance is called as
e wrhlell wHDHD &GS e @u@a;@g) Qgmena ergieuns spsLILHE DS

(A( Spe(31f1c Conductance (B) Equlvalent Conductance
Blww &L_ggidme Fomen &L &gHmen

(C) Molar Conductance (D) Ionic Conductance
Gurert &L_SgidHmesr et sL_sHiFmes

(E) Answer not known
ellenL Qsilweleane
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Ostwald’s Dilution Law is applicable to
Sevleuné’ Birssd i @Qgn@ Qurmbgibd

(A) All Electrolytes (B) Strong Electrolytes
omarsg Werugaflaar eiflwd Blés Weru@geiser

(CY Weak Electrolytes (D) Non-Electrolytes
aIflwb @eopbs WeTu@eiaer Slenugeflaer idangama

(E) Answer not known
aflenL Ggfweildena

The equivalent conductance of a solution of an electrolyte
BlerLgLummer Ganqaelien FITed GL gl e

(AY increases with dilution
Srésedian arganrions 2i8lsflé@b

(B) decreases with dilution
Birssedles &TramrLIs @ennu|b

(C) does not vary with dilution
Figsears Qummss LIHIS
(D) initially decreases and remains constant with dilution

2 TbUSH®  (GHeDUh DD f,ng,g,oﬂm anyemmong  rpmod  Gr
Sjerelled @HSHGL -

(E) Answer not known
adenL Ggfleldene
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8.  Faraday’s law of electrolysis are related to the
Berannh LGssasarar SuUTCGrGLufer ¢l ———— 2.1 6 QT ienLwig).

(A) atomic mass of the cation
Coir owefluller oiam Hlenm
(B) atomic mass of the anion
aglim sweluller oigm Hlenp
of

equivalent mass of the electrolyte
Werugeiuller swmen Hlenp

(D) molecular mass of the electrolyte
Weru@eflen epasamm Hep '

(E) Answer not known
eflenL Qgflwaicrensy

9.  The molar conductance of solution of an electrolyte 1s measured in
sepysadla o drer e ugaflulen Curart sLggisdpeafien searei

(A) ohm cm mol™ (B) ohm™ ¢m™ mol™

(C) ohm™'em*™ mol™ (D¥ ohm™ cm? mol™

(E) Answer not known
cilenL Ggfwelidvancy

10. In standard hydrogen electrode the platinum foil dipped in solution

of ———— M HCL :
Bluw evapl rmen Wenpemeruder o drer Germigernd @eayp ——— — M HCI
sanysadld pps encussiuGdng.
- (A) 05 - | (Bll
€ 3 (D) 4

(E) Answer not known
ellen QgMweldena
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11. Which of the following is true about Arrhenius plot of Ink Vs 1/T?
sifadefluey Germiger Ink Vs 1T & Spsar_cupdlo ag sflurear sapm 2

(A) This plot would give a straight line with slope equal to Ea/R
and intercept equal to 1/A

@is Gearmiyéd Ea/R eyeng srileyse (slope) sworsend 1/A yans
G wilssas5E Fwbrargwrer CrrGsmiymear GarGiEding

(B This plot would give a straight line with slope equal to —Ea/R
and intercept equal to In A '
@bz Garigd —Ea/R gearg emieyss swwmseynd In A oyeng
@eaL_whssaisE Fownegwrar CriGasr iy amears srhsspns)

(C) _This plot would give a straight line with slope equal to Ea/R
and intercept equal to In A
@bz Yeriirarg, Ea/R endeyse svwrsed Iln A erenug
GanLohlss5m185E swnrseyb 2 der CpiGsriamL s QsrRsdpg

(D) This plot would give a straight line with slope equal to —Ea/R

. and intercept equal to In 1/A . .
@bs QarriLneang, ~Ea/R eretug smieysae swwrseyb In /A oyeng
@eLwdssas6E Fowrseyb 2 der CrrGar e AaTHisS D

(E) Answer not known
aflenL Gsfliueldeme
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12. Among the following. The rate constant for a first order reaction is
1.54 x 1073 s7%. Calculate its Half-Life Time.

EpaaT_aupmieT, 1psd euws ellewander eleaGes wrhe 1.54 x 107 g7
@s6T BT YU STOGMSE SaTHSIH

(1) t; =450s

1
2

(i) t, =350s

b |~

(i) t, =300s

2
(iv) t,=250s
2
( (1) only (B) (i1) and (1i1) only
(1) v o : _ (i) whmib (iii) wi G
(C) (i) and (iv) only (D) (11) and (iv) only
(111) wHmb (1V) LD (11) wHmd (V) LLEL

(E) Answer not known
cllenL Qzfwelcorency

430 - Chemistry (Degree) 8



13.

14.

15.

The molecularity of the following reaction is
A +B+ C— Products

Yeimeu(md allepaTudle epeddnm eTaT

A +B+C— eevar Qungmeraer

(A) Unimolecular (B) Bimolecular
/ff@ epQEFn DI B® tposeag
(C¥ Trimolecular (D) Tetra molecular
(pid epe&ga ) BTG (LPa&Esn)

(E) Answer not known
ellenL Qgmwaidrenc

Transition state theory was given by
e fame Asrarensenu sulpridluieur

- (A) Joseph Priestley - (B) Michael Faraday
Gagrell 1Qfevi_all &ECEHD oLrrGL
(C/Eyrlng and Evans Polanyi (D) William Gilbert
ol wpHpID @eusey Guirevaf aflebelluith dlebum’

(E) Answer not known
eflen Qsflueiwens

Which equation is correct for Arrhenius equatlon"
Spsea_eupmier ergy ifafelluey’ FoeTun(

(A/ K - A . e—E/RT (B) K — A . e+EfRT

(C) K=A-e ™" - (D) K=A-e™VE

(E) Answer not known
eflen Qgflwedene
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16. For the given reaction A — 2B, the rate is given by
Qar@sstiuc L famear A — 2B, &@ oflenar Gouswrang

(A/ Rate -1 d[B] (B) Rate = _l@
2 dt
edenen Goustd = l@ Aanar Cougld = _l@
2 dt 2 dt
(C) Rate = _Ldla] | (D) Rate = 1d(A]
2 dt 9 dt
cllener Geuasd = —lM enar Causd = 1 d[A]
2 dt _ . 2 dt

(E) Answer not known
alilen Qgflweldene

. 17. Choose the right answer :
silwrer edlenevwp GCoibAsR&HLD

For the reaction nA — prodcut
enerwimengs NA — efever@ummer

Rate 1s equal to rate constant when “n” is equal to

eitemenGeugpd sfilenar Geus wrMedluybd Fwwrs GméEh Curg, n oy,6g

(A( Unity (B) Zero
Qe , — L&edluib

(C) Two : (D) Three
Goaw( &l

(E) Answer not known
ellenL GlgMwaelcvaney

430 - Chemistry {(Degree) 10



18.

19.

Which one of the following are most efficient catalysts?
Epsasam_suhmer arg ifls cSlevargdper WGHs fNeanydd

(A/transmon metals

Gen_flenew o Carshiger

(B) alkali metals

sTrSsemenyenL L 2 Corsniger

(C) radioactive metals
sfflwsss senewwemLw 2 Consniger
(D) alkaline earth metals
syt 2 Qens ke

(E) Answer not known
eden Qgflwefdency

The ratio of the velocity constant for a reaction at two temperature
differing by 10°C

10°C Qauuuflerer Ceumuimige, @Uam@ G]GUQJCSGUQJ Qeuvin  Henawasefie
penLGumid e(m Goudl ellenarufier SansCGeus wrdlell eHlflsw eremLig
(A) Rate constant
Beus wmmledl

(B) Specific reaction rate
FaNss (=) @O afﬂas)muﬁiem Geusd

(C) Activation energy
dleniey GEmer 2yHmed

(DY Temperature co-efficient
Qeutiublency (GaTHLD

(E) Answer not known
elen QaMweildeane
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20. The rate is not affected by changes in concentration of one or more

reactants

Qe Sdeg gsHE CupulL edemarulh CGummeiles Gaflelermd ghuRbd
wrhphiseTTed edameaniear Ceusb urdssuuLTg).

(A) First order reaction
WsD (pern eflener

(C) Third order reaction
gpeToTD (enm ellenar

(B) Second order reaction
fqaﬁsrurm pann ellenar
(DY Zero order reaction

Lpshul (penm cllener

21.

(E) Answer not known
sllen Qgilwaldrena

The wrong statement about ELISA method of analysis
arefler ELISA wep Cergamaewus updlu seuprar sapm

- (1) It uses antibodies

- @& Grrw adlrlummplsear LwsaTUHSSHSHDG
(1) The antigen interactions are used
arghirGareammlsaflen Cgmiysamerts LwieTLH g Sng)
(111) The use of separate receptors are required
seflwunrg ehlsetienr uwearur® Coavertin@Ridng
(iv) Pregnancy detection cannot be carried out by ELISA
erallemellen ppab S(HeyMmSMas ST M @uicrg

(A) () and (1) (B) (ii1) and (iv)

() wpmo (i)
(C) (i1) and (i11)
(11) womb (111)
(E) Answer not known
eflenL QzNweldeana

430 — Chemistry (Degree) 12
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22. TIodised salt is used for treating ‘Goitre’ a disorder arising due to the

23.

24.

deficiency of in food.

AGurepL&®R 2Uudler epab wper sWHE swd Crmi @GamiuBssliuGEng.

@5 2 awreliey

(A) Potassium
Qummdlwih

(C) Copper
Smlyid

(E) Answer not known

eflenL Qsflweildane

GopuriLmed ghubgng.

(Bédine

2 Gwimg e

(D) Zinc
SSHEM&LD

When only a small amount of drug is required to enter blood for
prompt relief the preffered route for administration is

eLany Blomensslvsrs Qrsssded meowespe @6 filu e wEHbHS
Gaemeuiu@ib Gurg wmhs Geausgin eulf

(E)

(A/ Sublirigual Route (B) Subcutaneous Route
predler S aulfl Corand@ iiguled
(C) Rectal Route (D) Intervanous Route

LDR&EHL D cuLd

Answer not known
clenL QaMwueildwena

(E)

BIDY Guif

Which one of the following is anti malarial drug?
Epsaa_eupmer ergy wGeNwir erdliiy wEmBSE ?

(A)

Heroin
e ymulles

Acriflavin
=1 &MACerell

(©)

Answer not known
cllenL Qg Mweldane

13

(BY Chloroquine
@&GarnGrmguldleir

(D) Equanil
G
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25. Match the correct structural relation

gflwrer s Lewlienu QuUTHESS :

(a) Penicillin 1.
Quefflaler

(b) Tetracyclin 2.
QL _yrenasetlem

(¢) Chloramphencol 3.
&CGermyb@uaf&ame

(d) Streptomycin 4.
@ GG renwdl e

@ ® © @

Af 4 3 2 1
(B) 4 2 3 1
(C) 3 4 1 2
D) 2 1 4 '3

(E) Answer not known
sflen Gsflweildenay

- 26. Chemical name of Aspirin is
gev@iler Ceudlullwed Quwif

(A/ Acetyl Salicylic Acid
&lanLed &naﬂé]aﬂe‘s S(leuib

(C) Methyl Salicyclic acid
Gwgde smedlflells s

(E) Answer not known.
allen Qgilwellevene

430 - Chemistry (Degree) 14

Guanidino glycoside
Geuraflig e SepensCarans(h

Peptide

Wuden ()
Fused polycycle
QeTHlanamThs Liheuemartd

f-lactum

[ -eomsLib

(B) Ethyl Salicyclic Acid
agsle sredlanssafls syl

(D) Benzyl Salicyclic acid

QueTenged gmadllengsefld ol



27. Assertion [A] : Aspirin can cause ulcer in the stomach.

aom [A] : pavuflenr euulphledr sidbgany 2 @i rés@Ens.

Reason [R] : The ester group in aspirin gets hydrolysed to acid
groups in the stomach where the pH is 2.

aryewrd [R] : awlphd, evlflafayearar  eevLt QgrEd e
Qsredwurs Brmhu@seEn Qumps igear pH 2.

(A) [A] 1s true but [R] 1s false

smég [Alef smyenrd [R] seumy

(B) Both [A] and [R] are true but [R] is not the correct explanation
of [A]

smss [A] smpewrd [R] &M e srgamd [R] smsg [Al-eeu

MEGEUSME S| enLDILIGI DN

(C/Both [A] and [R] are true and [R] is the correct explanation
of [A]

sméHD  [A]l wHpW ‘asrrrjasmb (R] sl sryewd [R] &bg} [A]
cllend @ dlmg,

(D) [A] is false but [R] is true
ganm [A] seum sryewrid [R] &M
(E) Answer not known

alen Qgfluelidens

15 430 - Chemistry (Degree)
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28. Which of the following is incorrectly paired?
SsararTueuDMIET 6Tgl/eTeneu shwng CUMBSEILLTS @ enammim@Ld ?

(1) Al(OH)s -
Al (OH)s

(2) Procaine -
L Gymenaes

(3) Diazepam —

Cwrdluth
(4) Quinacrine —
@& erméemyesr
A) (1) and(2)
(1) wpmit (2)
(C) (1) and (4)
(Dwpmin (4)

(E) -Answer not known
sflent Ggflweidena

430 - Chemistry (Degree)

Antacid

<ulley Badl

Sedatire
S@FIUESSID wBHS
Anaesthetic

WWi&& apllg

Antimalarial

wGaflwr ghHigd
_ (B/(Z) and (3)

Qupgid (3)
(D) (3) and (4)
(3) wogid (4)

16



29.

30.

Pick-out the correct relationship

&Cy Qarhssuv Peraraupflelmhg sflurear Asmiimus Casib0sHEseyD.

(1) Antibiotics — Baterial infection - Ranitidine
mieTamud T erdlitiygEer— undeflur T 60Tl Ly g 65T
Qgmo

(2) Antipyretics — Reduced - Paracetamol
body temperature uprd_wme
sTUsFOL&H — 2.6 Geuliuflanaanws
(GHOMEGLD

(3) Antiseptics — Wound Infection — Saccharin
Ambiprdlafser — smwun QAgrhn gréa e

(4) Tranquilizers — _ — Phenoclphthalein
Psychotherapeutic agent GermgeSer
SienwgliLiBsHser — 2 amaflue fflsens
Qum(peT

(A) (1) and (3) are correct (B((Z) only correct

(1) womw (3) eflwures smpHmy

(C) (3) and (4) are correct (D)
(3) &Ml (4) sNwrer sapmy

(E) Answer not known
allenL Qg flwaildrency

Leprosy is a disease caused by

(2) b sMwurer by

(4) only correct
(4) v P eNurear sabHm

QerGpmi ————— aemp urseflureid epu@b CpmumE.

(AY Mycobacterium Leprne (B) Salmonella
aww&Gar ursefww@aiGr greoGunGerder

(C) Ascabiol . (D) Thyroxine
SevamAGurd g sl e

(E) Answer not known
el Ggiluseiichepe

17
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31. The size range of nano material is
prCesrm Gumpafler ojaray

(A) 1-10nm (BY 1-1000 nm
(C) 1000-5000 nm (D) 0.1-1 nm

(E) Answer not known
clen Ggflweldveme

32. The techniques which 1s not used in characterisation of nano
materials.
prGarr  Qumplsailear usrysaeard serLMu oweiuBb  ECukisel e
SpsarLeupde erg LweaTuBHSSLILLefdena.
(A) XPD - Xray photo electron diffraction
XPD — eré6vGr Gum Gur erevsil_gren ev Qynéagesn
( NMR — Nuclear magnetic Resonance
" NMR - fiseflwi Cosenyd Qrsrarea
(C) SEM — Scanning electron microscopy
SEM — evGaenafit eravsi_gmen enwsGrrenGama
(D) UPS — Ultra violet photo electron spectra
UPS — @drgr ewwant. Gum Gunm srauslgmen sv@usegm
(E) Answer not known
eflenL G@gflwellevana

430 - Chemistry (Degree) 18



33.

34.

Nano particles are more biologically active than large sized particles
of same chemical composition due to

prGenm giseraer @Gy GCeududud swaeauiedr Quilu serelorar gsdamen

el 2 Wiflwe fHwrs Waeaybd Qeweédur. smyamb

(A) Very low thermal conductivity
& @enhs beulil &Lggi5Emen
(B) High mechanical strength
2 Wit @uipdly cuellano

( Greater surface area per unit mass
aidle Cupurly /Hummearann @
(D) Larger band gap
Quilu Cuar @eGaref

(E) Answer not known
alenL. Ggflueidema

In diabetes treatment insulin molecules places at surface pores of

nano particles which are known as
Bilfle; Hdgemslldr, prlearm gsasefiar GCupuriy geensefld o drer
@ ensalen ppasammadt LwaTUBSSLURSeTDET. @aneu g liLenLudld

(A) Dendrimers (B) Nano shells
GLemengrser ' BTGemT (@& ekT(h e

(C) Quantum dots (Iﬂ\Tano pores
GeuramL_Lb LeTaflaer BrEem glenenaar

(E) Answer not khown

adlenL Qgflweildena

19 430 - Chemistry (Degree)
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35. As nanoparticles for drug delivery to brain, the size of nanoparticles
is need to be
apenerdanar whhs lafiCunassada B mer gaaflar erey eremug

(A) >100 nm (B¥ < 100 nm
> 100 nm < 100 nm

(C) 1.5to14.56 nm- (D) None of the above
1.5to 14.5 nm Cuopsear_ ggbldeaa

(E) Answer not known
dilenL Gaflweildeme

430 - Chemistry (Degree) 20



36. Statement [I] : A carbon Nano-tube consisting a single sheet of
graphite rolled into tube. A

gapm [1] : eniuer prGamnr @wmi Srrlaul e @b sTer Camem
Gpmuiléd 2 me L Liul L gy

Statement [II]: The carbon nanotube electrically behaves as
semiconductor.

sapm [11] : ariuen ErGemm @Gmi Wergrgsdled Gams sLsHums
QeuuRdng.

(A) Both Statement [I] and Statement [II] are individually true

and Statement [II} is correct explanation of Statement [I]

gpn [I] vpgo [II] -0, vpgw spm HI] seg son [1] efwrear

aT&& Wl ehanay
(B/ Statement [I] 1s true, but Statement [II] is false
gpm [1] &f wemmed empp [11] seup
(C) . Statement [I] is false, but Statemeht [II] 1s true
spm [1] soum e sapp [1I] &M
(D) Both Statement [I] and Statement [II] are individually true

but Statement [I] is not the correct explanation of
Statement [II]

@mﬁm@ gabml g,suﬂg,dﬂmrra; sflurarensy, %GUTH'G'U gapm (1] fersEnTan
ganm {I] Qe

(E) Answer not known
eflen Ggflweiidana

21 430 - Chemistry (Degree)
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37.

38.

Nano capsules are made up of polymeric membranes at an average
size of
BTGeT ST ST gnedl serelléy umdlwMs seuaserme
NN o
(A) More than 100-200 nm
100-200 nm Cuweé 2 dren gsear Qameuri
( Less than 50-200 nm
50-200 nm gepeurar gisar Qsram
(C) 100 nm
100 nm
(D). None of the above
Tgla|b @ldane
(E) Answer not known
sllen Qgflweldana

The following is a tool for the characterisation of nano particle
Spssam_ ehg epuleaeart vwatuBss Brlamm gsasmer LGUUMLGF
QauutiuBEng.

(A) AFM (B) TEM
-~ AFM ‘ ~ TEM
(C/ (A) and (B) (D) Ball milling
(A) vpmw (B) Limeb LBl dhall i

(E) Answer not known
sllenL. GgMweldena

430 - Chemistry (Degree) 22



39.

40.

41].

Zn(0O Nanowire 1s used as

S55678 samen® Bréeatt gaet Weteumomy LweTuHEng.

(A) Filtration
s HSISS
(C/ Generators

QgarGrlLisarms

(E) Answer not known
eller Qgsflueidene

(B) Desalination
o Ly p&flwuins

(D) None of the above
@ age|b Goma

Father of Nanotechnology 1s and science
BrGenm sidleflwd wHmb AsmAdEHLUD ShHas eTein SMPSSILIHGUT

(A) Albert Einstein

T gehreig 6

(C) Moungi Bawendi
T epiadl urGeudiy

(E) Answer not known
eflenL GgMweldene

Optical isomerism is shown by

(¥ Richard Feynman

Mesrl. QuuenGuen

(D) Louis

eyruiein

gafl gpnHdl wrHNub o edrer Carwid erg) 2

(A) n-Butyl Chloride
n-Sy e i &Germeny(h

(C) tert-Butyl Chloride
tert-Sy e d GGarmeny(h)

(E) Answer not known
aflen Qafwueidene

23

compound.

(B¢ Gec-Butyl Chloride
Sec-Syt e e ECarrey®

(D) Iso-Butyl Chloride
Iso-SyL e e GGemmany®

430 - Chemistry (Degree)
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42. Which of following compounds will be optically active?
Qeaneup Garwmsefldr ergy geaflufiud Qewedd @maEb?

(A) propanoic acid
LGrmbCGurails =i
3-chloro propanoic acid
3-&CernCGrr LGrTlCwrais e
(C/

2-chloro propanoic acid
2-@GearnCrr LCrmMACwreis iuwlevd
(D) 3-chloro propene
3-@CGernCrm LGym e

(E) Answer not Rnown
eflenL Qsflwalicvane

43. Plane-Polarised light 1s affected by
DemeuHeURTAUDDTED S-(pameTamd gellurd LUTrdssuURang g2

(A) Identical molecules (B) All polymers
g6l pLpeGEn mIGHeT SMATSG LITSIDiTEET
(C/ Chiral molecules (D) All Biomolecules
DEHPED (PO T HET : Sinansgl 2 ulTepasan miser

(E) Answer not known
clen GgMwiciichened

430 - Chemistry (Degree) 24



44. How many stereoisomers are possible for a compound which has
three chiral carbon atoms?
QP enaEred  &TTUE  gmissaatd Gare @ Gsrwgded  assenar
avig NCWrCFmTLIgHET @) (heEGLW ?

@ 2 B 4
© 6 3

(E) Answer not known
ellen Ggflweiicvene

45. The term ‘Chirality’ means
‘@armelll iy’ eremm GFmeISHE DITHHD

(A) Mirror image

seenTmig. Wbuth
(B) Enantiomers

arereGUIMDTSET

( Having handedness

MESSEID (31) nssSlmern Gamamr g
(D) Right handed

G}JG\)Q} (2022

(E). Answer not known
slen. Gsflueicrenaw
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COOH

I
H-C-0OH

46. The RS configuration of meso tartaric acid H- (]3 _OH 18

I
COOH

C|OOH
H-C-0OH

BGer LmiLrfls siflagsder R, S cugeuamwiuy eremug H- (|] _OH

|
*COOH

(A) 2R, 3R (B) 25, 35
© 25, 3R of 2R, 35

(E) Answer not known
allenL Qgilueldene

47. Give the name of the chair conformation of
 ECp Qerpssiiu Rerar sweeulen prosred Geamsasaar GHUGHS.

CH,
(A/ Equatorial CHs (B) Axial CHs
Bs@CGuriue CHs  =és CHs
(C) Cis CHs : (D) Trans CHs
fev CHs qerev CHs

(E) Answer not known
eflen Qg ilwshldena
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48. The isomers (I) and (II) whose configuration given below is
sGerwiset (I) womw (II) wisar sl Leawiy §Cp Casrhssiu Gererg.

CHgq
HO - (I? -H
HO-C-H
H- (IJ -0OH
CH,
' (I)
(A( Enantiomers
eremmetiy Guimo e
(C) Homomers
GCaprGumoiser
(E) Answer not known

aflenL. Qg fluaieena

27

CH,
H- é} - OH
H- (IJ -0OH
H-G-CH,
on
D)
(B) Diastereomers
LwevELAGwmbiaer
(D) Epimers
eriSliTger -

430 - Chemistry (Degree)
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49. Assign R and S configuration to the following Fischer projection
SpssarL Gaveni 4AmmTApsaseied R whmind S sl Lawidmar Hluldlss.

al
H 2 oH
H—13  oH
cl
(A) 2R, 3R . (B) 28,38
«cf 28, 3R (D) 2R, 38

(E) Answer not known
eflenL Qs flueicvena
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50. Assertion [A] : Lactic acid shows geometrical isomerism.

apm [A] : Casgd il eugeliud brHRub srarIsHng

Reason [R]: It has C =C double bond

amyemd [R] : Qg C=C @rreLl Qeaiou Qararferarg.

(A) 1If [A] and [R] are correct and [R] is the correct explanation of
[A]

sabm [A]l womb smend [R] ¢f wpmp smernd [R] spm [A] e

sfllwrer alleréaid
(B) If[A] and [R] are correct but [R] is not correct
. spm [A] opmb srremd [R] sfl syanmd ampaerd [R] seumy
(C) If[A]is correct and [R] is wrong
gapm [A] #f whmbd srrerd [R] seum
)/ 1t both [A] and [R] are wrong
gapm [A] whmib asmﬁzsmb [R] @renhn seumy *
(E) Answer not known

elilenL GgNweildena
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51. Assertion [A] : As inductive effect increases, the dipole moment

Increases.

gapm [A] : gramLd  eerey  ofsfsen  Curng  @uapanen
Horusdnen dafsEo.

Reason [R] : Dipole moment is the product of distance and
charge.

snyard [R] D Qe Aeuysdpan  ereéiug MM WHmIb

WlemgnnL.sdlen ellanareumib.
(A) [A]is true but [R] 1s false
[A] e @menw <yerrer [R] Qumi
( Both [A] and [R] are true, [R] is correct reason for [A]
[A] wogp [R] @rar@ib eamew, [R]eyparg [Aldlen sflurean edlengaid
(C) [A] 1s false, [R] is true
[{A] Qumi, [R] o awenw

(D) Both [A] and [R] are true, [R] is not the correct explanation
for [A] :

[A] whmd [R] eamew, yemed [R] earug [Alefng sflunar
lanaid e

(E) Answer not known

eflen QgMwelldana
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52. Assertion [A] :

oo [A] -

Reason [R} :

smyerrid [R] ;

In propene, the C — C bond length is 1.46 A in
contrast to normal 1.54 A in propane

H

|
H—-—C—CH=CH
R

H 1.46A 1.353A

grgmyent 4GyrGuefléy C — C Genaruy ferd 1.54 A <G LD.
wrpres, yGrmieia eder C — C Qevewriny ferd 1.46 A
25 @8
I?
H—C— CH=CH,
1y 1

H 1.46A 1.353A
Hyperconjugation like conjugation and resonance

affects bond length

Peoarsd wHnw 2. almsaurar Yeoarudonr o aflasa,
Genarriiy Berdengt unHédlenng

(A) [A]is true but [R] is false
[A] sflwneng) gpenmed [R] seuprang
(BY [A] and [R] are true, [R] is the correct explanation of [A]
[A] wpmbd [R] @Qranhn efurearg, [R] ererug  [A] efihe sfwmen

eT&E&LD

(C) [Al] is false, [R] is true
[A] seupreng [R] eflwreng
(D) [A] and [R] are true, [R] 1s not the correct explanation of [A]
[A] wombd [R] @rar@w sfwurang, [A] b [R] sflwrer eflergsd

< ED eV

(E) Answer not known
sllenL Ggflwaicvency
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53. Acetic acid is an weaker acid than formic acid because of

sTyaTLns Sfllysd Sblan  Suridls sdleosams eflL
veeiaTraT LSl mE:D.

(A/ +1 effect

+1 sdlenera,
(B) I effect
—I eflanaray
(C) Resonance
2 L allensay . :
(D) pKa of acetic acid less than that of formic acid
SUTTAG Siblagams el ifllws sflesHea pKa @Gopeuns o drarg

(E) Answer not known
' eflenL AgNwefdena
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54. Assertion [A] :

sop [A] :

Reason {R] :

SHTFERTLD [R] :

Inductive and Mesomeric effects provide an effective
way of determining the point of attack of
electrophiles and nucleophiles on the molecule
gL wHpmb BCerQwhs eflevareyser epadamMer g
TOSLITETEGUT  PMID  &BEseuT  srenflsaiisn  SrEESW
yerafleow Sronelsa g Anbs euflenw eupmiGHng.
Inductive and Mesomeric effect indicate the charge
distribution in a molecule. _

giawr_d® whnb WCsrGwis ellameareysdr @@ epwsamded
genw NFICLITESmss @GHadleatman

(A) [A]1s true but [R] 1s false
[A] sfwneng semméd [R] seupreng

(B/ Both [A] and [R] are true, [R] is the correct explanation of [A]
[A] wpmb [R] @rarGo efurers, <pemd [R] ererug  [A] Qe

el wirast

ET&h o LD

(C) [A]1s false, [R] is true
[A] seupreng [R] sflwrarg
(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

[A] wpmn [R] @ranhn sfiwrarg, <erre. [A] pg [R] eflwurer

GTEHESID Bchev

(E) Answer not known
sdlenL Qgflusiidena
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55. Identify the —I effect group from the following :

56.

(CH;); C—, CzH;, CH,CH;, CHj
Qemeu@euareupile — I eflenerey AsrEgHerws saredueyb :

(CH,), C-, C¢H;, CH,CH,, CH;
(A) CHj (B) CH,CH,
(0/ CeH; (D) (CH3); C”

(E) Answer not known
eflenL GzMwsildbanay

The functional group that shows negative resonance effect is
T o L aflensey ellenerencus sTL(HD edenans WFwe Ggm@s

- (A) —halogen . (B) —OH
- o LSeflsdr - OH
«of ~No, (D) —NH,
~NO, ~ NH,

(E) Answer not known
eflen QpMuefcrana

430 - Chemistry (Degree) 34



57. Which of the following i1s/are correct for inductive effect?

serr_eh ellenareys g Wemeumeuameuper aTgy Filwunang /sflwumerene

(1) In inductive effect polarisation of sigma bond is caused by the
adjacent o bond
gnee ellepereled Slswr Genamriler pevareungadler o drer Hdwon
SlevemriGlanméd gHu@ WwrHmb

(1) Halogens, — NO,, — CH and — CH; are electron withdrawing
groups. _
anpramensdr, —NO,, —CH wppw — CH; Gsngdsdr eas qren
seumb CsT@ e erariiLihidlemmer

(1) — CH,CH,4 and —(CH,); C are electron donating groups.
-CH,CH; wppnd —(CHy)sC Qsredsar asiprer  euprig
Qer@daer eremiiLihidlemmen

(A) () only (B) (iii) only
(i) wr @b (iii) wr Go

(c/ (1) and (iii) : (D) @), (ii) and (iii)
(i) wppd (iii) D), (i) wpgd (iii)

(E) Answer not known
alenL. Qaflueideamea
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58. The electromeric effect in organic compounds is a
asrﬂ?ﬁ?&r‘rmréjas@ﬂd) sremlufpib eresL Crrhuwfls efleanemey eTamuig)

(A Temporary effect

SH&ETOIGHWLTE alleneTey
(B) Permanent effect
Aavoowner Hlapey
(C) Only observed in inorganic molecules
gaflw Gaiwmisald wl.HGL sraiuhidng
(D) None of the above
@dle ergia|b @dama

(E) Answer not known
eflenL. Wgflweldene
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59. Assertion [A] : The electromeric effect is brought into play only at

the requirement of the reagent

gapm [A] : aflenan srasfluden aperafilameulies LLHCL s Crrbwfls

ellenerey GleweOURLD

Reason [R] : It is temporary effect in which bond pair is shifted to

one of the constituent atoms.

srgeanrd [R] 1 erewsl GrrQufs  ofeetey ereiug  gharels  allaneray,

(A)

(B)

(©

(

(E)

same  elmarsramilufler pearafienaulldy Ldilanamiided
o GTen aTesLyrer @eanent HEADT(E eneney CHTéEd Bamib.

Assertion [A] is correct but Reason [R] is incorrect
agpm [A] &0 gemméd srpend [R] seum

Both Assertion [A] and Reason [R] are incorrect
ganm [A] whmbd aryesrd (R} @ren@n geumy

Both Assertion [A] and Reason [R] are correct but Reason [R]
is not the correct explanation for Assertion [A]

‘a%».g')gi [A] wpmwb smpeamrd [R] &R @Q{;mn@ a;rmammrrmgu'[R] NG
[A] sflwrer efleTés0 Bicven

Both Assertion [A] and Reason [R] are correct and Reason [R]
is the correct explanation for Assertion [A]

gapy [A] wpmd  srpemn [R] efl, Cogid  stremorerg  [R]
sapfihE [A] sflwrer eferssomeid

Answer not known
adenL G]g,fﬂu.naﬁ}sbmm
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60. Shifting of electrons of a multiple bonds under the influence of a
reagent is called
Hemeynr Cerwhisaild sregh Sleardummer peraflepauidy Hawbd

shamdlawner clienare] eTamiu(Hib
(A) I-effect (#) E — effect
I - Qevaray E — aleveray
(C) M — effect (D) R — effect
M — &enarey R - clenarey

(E) Answer not known
ellenL_ QzMweildwena

-~

61. The geometry of the rutile type of titanium dioxide is
ent_Lrafluih enl g dendt g6 Rl a6 euansullean eulg.euellue eremer ?

(A) cubic | (B( distorted hexagonal

' GHFEFHTD ' fenghs AmCasTentd

(C) tetrahedral (D) distorted tetrahedral
BTGP fangbs HTTAPSHD

(E) Answer not known
- el GQaflueideana
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62.

63.

If there are 4 atoms in Unit cell in a cubic system, it is an example
of
R(H SHEgHT AoLUbE G Gmlgd 4 JAgNESET GHBSTL g

T(HSHEEM_(H Y GLb.
(A) simple cubic unit cell
eraflu e &5 DG n(h

(B) body centred cubic unit cell
QUITEHET MW ST FFIT DG Tl

(C/ face centred cubic unit cell
WS Wl SaT &5|T S ()
(D) none of these _
G dleé ergieyb @aeame
(E) Answer not known
eflenL Qsfwuefdena

Choose the correct statements (s) inaccordance with the ionic solids
Slwell ugshsErssTar, sflunear sspmsmer CaibEsH&s :

(1)  Ionic solids have high melting points
Swefll Lgshiad ofle o (@ Hlenwarws Qupmerarer

(11) Ionic solids have low melting points
Sl ugshsdr @Ganbs 2 (e Hlevwenwll GubpydTeren

(111) Ionic solids do conduct electricity in molten state
Sjueild Ly srsa 2 mEHu Heauld Wastrsans &L_sgih

(iv) Ionic solids do not conduct electricity in molten state
Suelit ugshse 2 kiU Hoouild WaerTsms sLsng)

(A () and (iv) (B((i) and (iii)
(i) wop> (iv) (i) wpmib (i)

(C) (i) and (iv) (D) (ii) and (iii)
(i) wpmw (v) , (ii) wpmo (i)

(E) Answer not known
cdlenL. Ggfluefcdreanay
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64. Total number of symmetry elements in a cubic crystal is
i(?m g&i7 LgesH® sreiiu@hn Gwrss Frewvaallear aanafllsms

( 23 (B) 22
(C) 21 (D) 24

(E) Answer not known
sflen Gsflweiidena

65. Match the Column A (Type of crystalline solid) with the Column B
(example for each type) :

Qpheuflans A (Ligs S auews) ApHeufiens B 2 dér Qur@gssed (geuGeunm
UNSSGLD T(hiSgH&ETLH)

A B
(a) Molecular crystal 1. SiC
. LpSFD LLED - 8Si1C.
(b) Tonic crystal 2. Mg
Slwel Uiy &b Mg
(c) Metallic crystal 3. H,0
2 Geora L&D H,0
(d) Covalent crysﬁal 4. MgO
FHUI AL Lilg &LD MgO

(@ ® @© @

A 3 1 2 4
@ 4 3 2 1
©),2 4 3 1
™f 3 4 2 1

(E) Answer not known
dlent. Ggflweildwenc
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66. Assertion [A] : Amorphous solids are anisotropic

gapm [A] I ugs eugeu HD HLLPurElaet e FmiyaLwg)

Reason [R] : Anisotropic phenomenon in a solid is a proof of °
presence of orderly arrangement of molecules/
10ns.

snyentid [R] D m AunCurmelen ansamivemw uaTLSTE SHeuDBled
o_grer APGEI M &6/ w el saflebt gflwren

augeubUYHE 2STTINEGD.
(A) [A]is true but [R] 1s false
[A] gl e, [R] seum
(B) -Both [A] and [R] are true and [R] is the correct explanation
of [A]

A] wpgp [R] @rean®Gw il wpmb [R] aang [A] &@ sflurer

[
 HlETEEDmELD
(({ [A] 1s false, [R] is true
[

]
A] seup. [R]

(D) Both [A] and [R] are true, [R] is- not the correct explanation
of [A]
[A] pomw [R] @reanmCuw &M, [R] eaug [A]l &3 seummer
- elen& S M@ LD ' ‘

(E) Answer not known
elen_ GQgNweldena
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67. Choose the right matches among the following :-
sflwren QUTBSSSws SpsaamLeunmner CsrbOsEESeD :

Crystal system
Uig & S|l

(1) Cubic
&1 FZITD
(2) Tetragonal
BrHGaETeTLD
(3) Orthorhombic
) 2, TGsreEmuFH Td
(4) Triclinic
pisfiey =iFs
(A) (2) and (3) are correct
(2) wpmd (3) Fweneu &
(C/ (1) and (4) are correct
(1) wpmib (4) <pHwensu &

(E) Answer not known
alenL Qzflweidena

Examples
T(HNSHSETL(HFHET
- ZnS
- ZnS

- BaSO4
- BaSO,

-~ TiO,

_ TiO,

- CUSO4 : 5H20
(B) (3) and.(4) are correct
(3) wHmw (4) Huees &

(D) (1) and (2) are correct
(1) vomn (2) < fuieey &

68. The Amorphous solid among the following is
Mlereu(meuareuDmier 6rg) Ligs auigeunmm S Lum@ner?

(A) Table salt

2 (L _
(C/ Plastic

Germeivig s

(E) Answer not known
aflen Qgflweildene
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eHauiyLb

(D) Graphite
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69.

70.

71.

Calculate the miller indices for a plan when the intercepts along the
axes are 2a, 3b, 2¢

2a, 3b, 2c -wissssallan awfiCu Geut Hisman® wdlysemar CamamHeTer
senslan et GOl&EHT 1y et saumshdl(s.

(A) p (2), 3), (2) (B) (3), (2), (2)
© 3,2),0) D) @), 3), 3)

- (E) Answer not known

clilenL Qgflweicreney

The structure of NaCl is considered as _
Cemqwid GGetrepgh Ly sD ThHE Smbinlear Garaerarg)

(A) BCC (B) SCC
BCC SCC

(Y FCC , - (D) None of the above
FCC gD @dena

(E) Answer not known
aflenL Qgflwueiicdens

One mole of PCl; is heated in closed two-litre vessel. At equilibrium
40% of PCls is dissociated. Calculate the equilibrium constant of the
reaction

em Gurd PClL 5 wpuywu @Qran® i ungdlisdled @LrastiuBang.
sofleeoula 40% PCls Qfpss. @bs cleanlear soflae  wrhaamw
sa&d e,

A{A) 0.381 mol lit-? - (¥ 0.133 mol Lit-?
0.381 Guwmé it 0.133 Guwrer e i!?

(C) 0.0302 mol lit! (D) 0.234 mol lit!
- 0.0302 Guoré Sl Lt - 0.234 Guome Sl

(E) Answer not known
cAlenL Qgilwallidvana

43 430 - Chemistry (Degree)
[Turn over



72. For irreversible expansion of an ideal gas under isothermal
condition, the correct option is

@@ Qeatufleeew wrpr wHmbd dam Qewd  pepuild BawdY eumy
ciifleuemLcugharer sfiwner sapenp CaipEEMH

(A) AU=#0,AS,,,; =0 (B) AU =0, AS,,;,; =0

(C) AU=0,AS,, 20 (D/AU =0,AS,,,;; #0

(E) Answer not known
eflenL Ggflweldene

73. . The entropy (s) and its change (ds) are respectively
era_Crm9 (s) wHmb e wrHow (ds) wpeapGu
( State function and perfect differential
Hlepay Qewdun( whnbd sflurer Ceaupur( @b

(B) State function only
flanay Gewdunp o HGw

(C) Perfect differential only
sgflwrer Gaumumrh wl HiGw

(D) Neither state function nor perfect differential
Blene QewdurGLr sdeg sflurar CaumurGrr Gdame

(E) Answer not known
sllenL Ggfluelidenay
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74. Assertion [A] :  Entropy decreases when a liquid crystrallises to

75.

solid

gapm [A] . Biwd  Hewwwrs  wrpesdd  ogar  aerl Grmd
GopEing,

Reason [R] : Crystals have more order

sngamd [R] D ugshseler @urismLLL AHGD

(A) [A]1s true, [R] is false
[A] &, [R] seum

(B) [A] is false, [R] is true
. [A] seum. [R] &

( Both {A] and [R] are correct, [R] is correct explanation
of [A]

[A] womb [R] &M, [R], [A]-efer eflurer elergaid
(D) Both [A].-and [R] are false.

(A] opgo [R] @renGio e
(E) Answer not known

slilen_ Ggflueilcveney

Choose the correct relationship between C, and C,,.

Cp wpge C, gdweapile Guurer sflurar Ggrireou Gsrpos®. -
® C,-C,=R #’c,-C, =R
(¢ C,+C, =R : D) C, >C,

(E) Answer not known
cHlen. Cgflweldbena
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76. Which of the following statements are true?
Yetreumd andmisetley erg flwmerg) ?

(I C, 1is greater than C, by gas
C,erarug aumy gpad C, g 6l @iflswons 2 drarg
(II) For one mole of an ideal gas C, - C, =8.314Joule
@@ Cored podlway eumyelpg C, -C, =8.314 g9
(ITT) For one mole of an ideal gas C, - C, =1.987 cal

g Curd padludoy ewryedlpng C, —C, =1.987 sCarfl

(&) () and (II) (B) (I) and (I1T)
(D) woms (1) 1) wpgw (11I)

of (D, a1 and AID (D) (I) and (IIT)
@), (1) wppo (D) (1) wppo (I1I)

(E) Answer not known
cllenL Ggflweldene
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77. Choose the right matches among the type
auenasafler sfluner Qurmssrsamers CsrblsHssea|b

78.

(1) Entropy —
erer_Gymdl

(2) Specific heat capacity -
gar Glautiu erHySmetr

(3) Gibbs free energy -
ey @loweus hHned

(4) Temperature -
G]euuurrf,]msv'

(A) (1) and (3) are correct
(1) wpmd (3) &M

(C/ (2) and (3) are correct
(2) opgbd (3) &

(E) Answer not known
den QgRweildena

Intensive property
gelly Qansg
Intensive property
Sefly Qangg
Extensive property

cAfleurer Qamgg

Extensive property

" Afleunen Qanggs )

(B) (1) and (2) are correct
(1) wpgb (2) &M

(D) (3) and (4) are correct
(3) wppw (4) &M

Which one of the following is not belong to extensive property?
Spsaam_eupmieT g Upliuamla GCsrrsg) ?

(A) Mass
QummeiTento

(C( Boiling point
Qardlflene

(E) Answer not known
alenL Ggfluefdana

47

(B) Volume
LI(THLDGHT

(D) Internal energy
D& ZPpHDED
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79. A thermos flask is an example of
Qgom Warrevd @5HE 2-FTreRTD

(A/ Isolated system (B) Closed system
SNSS SemoliL] 01607 <D{eNLOLILY

(C) Open system (D) Heterogeneous system
Smhs DienoliL Geumiu L. ienoLiL

(E)

Answer not known
eflen GgMweildeana

80. The free energy function (G) is defined as

sl g er hnd gassdar () earumpureas

(A)
©)

(E)

81.

G=H+TS (BY G= H-TS
G=H+TS G=H-TS

G=TS-H : (D) None of these
G=TS-H CuhasarL ergiayb Gdema

Answer not known
ellen Ggflweildene

compound does not obey the EAN rule.

4) .

©
(E)

Geow Hlay sigm erarr (EAN) alfew sribss @dame.
Cr(CO), . (B) Fe(CO)s
Ni(CO), of v(co),

Answer not known
ellenL GaRlweiicvenaw

430 — Chemistry (Degree) 48



82.

83.

TUPAC name of K, [Fe(CN),] is
K, [Fe(CN); Jar IUPAC Quuit <@

(A) Potassium ferric ferrocyanide
Qumirflud Quirfs QuirGrrewenan(

(B) Potassium ferrous ferrocyanide
Qur_rflud Quirey QuirGrrewenar(h

(C/ Potassium hexacyano ferrate (II)
QumLrélwib QemssrewGert QuiGr (IT)

(D) Potassium hexacyano ferrate (III)
QurLrdwb QenssrewGearr QuirGr (I11)

(E) Answer not known
efen Qaflwelwency

Fe(CO), belongs to geometry.

Fe(CO); g eSS QETETL ).
(A) Square plannar
(I HETF FFITD

(B/:rigonal bipyramidal

Wp&Cament @rlenL iUl L& snlby
(C) Tetrahedral

Bremps)
(D) Octahedral

ereT(LpS

(E) Answer not known
cilenL. Ggflweldena

49
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84.

85.

86.

Ni(CN)i“ lon is formed by hybridisation.
Qarssauen apawns Ni(CN)Z swel o mandos.

(A/ dsp2 (B) SP3

©) spd (D) dsp®

(E) Answer not known
sllenL Qgflwuaildens

Effective atomic number and oxidation state of Fe in [Fe(CN)6 I is

[Fe(CN)6]4_—d> Fe —ulen flar oigm eraimm whmbd adnCGanpy Hene

(A) 35and+3 (BY 36 and +2
35 whmw +3 36 wHmid +2

(C) 42 and +2 ' (D) 34 and +3
42 vpmpib +2 34 womb +3

(E) Answer not known
eflerL Qgflwetdanc

The Effective Atomic Number (EAN) of the central metal ion in the
coordination complex [Fe(CN),]*~ is

[Fe(CN)6]4_ Simenreys Gerogdar eovw 2 Cars swelWear Hay <ian
arain (EAN) |
(A) , 84 (B) 34

G/ 36 | (D) 54

E) Answer not known
aflan g fluaidene

(
(
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87,

88.

Write the IUPAC name of the complex [Pt(NHjy),Cl,].
[Pt(NH;3),Cl,] IUPAC Quueny erpgis

(A) Dichloro Diammine Platinum (IV)

oL &CemCrm enLsibiSer Wermgend (IV)
(B) Dichloro Diammine Platinate (II)

L ECemnGrm evLbBer GermiigGen (II)

(C) Dichloro Diammine Platinate (IV)
L&CarrGrm enLybiBern WarmiiyCar (IV)
(DY Diammine Dichloro Platinum (II)
@Lobilar @L@SanGrm Yerm yerd (II)

(E) Answer not known
ellen Qaflwaldena

According to valence bond theory of coordination compounds the
hybridisation and geometry of the complex [Pt 016]2_ ion 18?

@avendlpen Genenriiyé Ganarensuien  ppetb [Pt Clﬁ]z_cre"mm ST F
Carwgdlen @enssaiiL) LHMILD 6ulgelluTaTg

(A)  d’%sp®; trigonal bipyramidal
d%sp®, waGarar @ ATdLe
(B) dsp®, square pyramidal
‘ dsp?’, L4303 |_(ﬂ|;ruﬂ|_'d)

(C) dsp?, trigonal bipyramidal
dsp?, wp&Gament @mHATolLe
({ d?sp?, octahedral
d%sp?, erei(Lpd)

(E) Answer not known
silenL Qg flweldena
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89. According to IUPAC nomenclature of [(NHg)5 - Cr - OH - Cr(NHy);1Cl,
[(NHg)5 - Cr - OH - Cr(NH3); 1Cl; @en IUPAC Quuiee sms

(A) Hydroxo decammine chromium (III)

wan gr&Ger QLés <benwen Crmblwn (IIT)
(B) Di(Pentaammine) hydroxo chromium (III) chloride

L (CGuerLm oberwer) ewanl gr&Ger gCrmSwn (II1) ECerreny®
( U -hydroxo decaammine chromium (III) chloride

U -anani TisGer QLgs ibawer GCrmblwb (I1I) @Gmnmq@
(D) Pentaamine hydroxyl chromium chloride
GuerLm ybewen epant_yrésld GGrrilww GGerreny®H

(E) Answer not known
sllenL Qaflueievene
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90. Match the following :
Qemeu(meuameuhenp QUTHSSIS :

Compounds Hybridisation
S| enantey FEFTDLD @engseLL
(a) [COFS]?’_ 1. dZ%sp?
(b) [CO(NH3)6]3Jr 2. dsp?
(©) [NiCL,]* 3. dsp
(d) [Ni(CN),]* 4. sp’d?

(A) 1 2 3 4
(B 4 1 2 3
(C) 4 3 1 2
(D) 4 1 3 2

(E) Answer not known‘
ellenL Ggflweldena

91. Which of the following is not a sublimate?
Spsaam_eupbler org LsRGLISH epapuld GNss wpigwirs?

(A) Napthalene (Bﬁamphor
BIUGeO6H SDHLLTLD

(C) Chlorine : (D) Benzoic acid -
@&Germitle QuenGeruils bl

(E) Answer not known
alenL Qsflweldens,
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92. Solvent extraction is governed by which law?
seruuner WTsLssse abs clbé@ ol ul Lg?

(A) Beer'slaw (B) Ostwald dilution law
i 604 cueurd(® Srsser efd

(C) Boyle’s law (1 Nernst distribution law
umisen eflf Opiersv LkSH

(E) Answer not known
allenL Qgflwefdene
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93. Match List I with List IT :

uagwed I o cer uigwe I eow Qurmpssis

List I List II
Ll gwe I utagwe L1
(Mixtures) | (Technique used for purification)
(BLMGUEET) (QALLSDHE LwaTUESSILGD KL LD)
(a) Glycerol from spent lye 1. Steam distillation
Seflgrmency evGlLia
e -l mppg WRluug Qardl Brred wpenps sSMOEFS euRSHe
(b) Chloroform + Aniline 2. Fractional distillation
&CernGrriumid + Hafldfler Geendamiss eugsse
(¢) Fractions of crude oil 3. Distillation under reduced
pressure
&&a1 eraanrufen (NemaL GE®DESIUL L Bi(WPpSHSSH0 smiFs
e g b5
(d) Aniline + Water - 4. Distillation
Safledlem + Bif SMUFS allgSEHe
A0 o«
(A% 3 4 2 1
(B) 4 2 1 3
) 1 2 3 4
D) 1 3 2 4
(E) Answer not known
silent Gghweildemne -
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94.

In determination of hardness of H,0, calcium forms complex with

EDTA. Which among the following about the ligand and complex is
correct?

Efer  asneansgemenwerw  Hlrewmus@n  Curg  sroflub, EDTA-o Len
Smaeys Gefosms o @ rs@EGing. SpésamLepDEr ohs Smpm  meal
wHyb smarre s Carwsmss GPlsg sflurarg ?
(A) EDTA is tetradentate ligand and square planar complex
EDTA prearflenenw mefl, swgensgy oeeareys Geiold
(B) EDTA is hexadentate ligand and octahedral complex
EDTA <yfleneniu mafl, arawrpdl sieawreys Geroib

(C) - EDTA is tetradentate ligand and tetrahedral complex
EDTA prénflenamrw mafl, prenapdl siememeys Gaiotd

( EDTA is hexadentate ligand and distorted octahedral complex
EDTA sofleamu rafl, Hamsns aampd smeamays Gaiwid

(E) Answer not known

ellen Ggflweldene
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95.

96.

Match the following indicators with titration :
Eweupd FlprisTiyew, STbUTTSSIL QuThsHs :

(2) Phenolphthalein 1.
QesrmiigeSett

(b) Methyl orange 2.
Qugdler rese

(¢) Eriochrome black-T 3.
aMGuwrsCrrd Werms-T

(d) Starch 4,
@ ® © @

(A) 1 2 3 4

( 4 1 2 3

C) 1 4 3 2

(D) 2 3 1 4

(E) Answer not known
cllenL Ggflwelldena

Strong acid Vs weak base
aedenols  lfem Vs eudllano
@mmgg, ST

EDTA titration

EDTA -grbunigged

Iodometric titration
GGGl & grburisse

Strong acid Vs strong base
acllowdlEeg <wbon Vs audomwlie

ST

Methyl orange is not a suitable indicator for which of the following

acid-base titration?

Qusdd reps Weteumb orhs dle-srr QedleudsaisE Gurumsswb

BIDBET g @& ?
(A) HCI Vs NaOH
(({ CH,COOH Vs NaOH

(E) Answer not known
cflenL GsMweildency
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(B) HCl Vs NH,OH
(D) HC1 Vs Na,COj
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97.  The most suitable precipitant for estimation of Ni%* is

Ni?* suueflew serellPeuging Waajb 2 6bg HpLiGeITEGS GMTan

(A) Cupferron (B) Oxime
G QLymes SLGEELD

(C/ Dimethyl glyoxime (D) EDTA
aLCwdéd Hearysamentd EDTA

(E) Answer not known
cllenL Ggflweldrana

98. The number of gram molecular weights (moles) of solute per litre of
solution
@@ AL sarsdled, serummailer frmb epedamm erenulien (CmobaeT)

CTETGRT &H6m & GTEHTLIG)

( Molarity . ) (B) Molality.
Gumreomfitig GumemedlCig

(C) Normality (D) Mole fraction
BTTLOmEs g Guré Gerard

(E) Answer not known
| allenL Qgflwelerena

99. Nickel dimethyl glyoxime have the colour of
: Hlasd e Cwdld daarysamsbd ahbs Hlnsanssd Qarearheareng) ?

(A( Scarlet red (B) Blue
smesfleutty (Scarlet red) Held

(C) Green | | (D) Yellow
U&en s LD (@R &t

(E) Answer not known
- aflenr Qg fwelidvane
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100. In oxidised form the colour of methylene blue indicator is

101.

< &allmGandp Hlevauder QugdleSar Hov Fimmismguler Hlmn

(A% Blue (B) Colourless
Baow Bpwhps)

(C) Yellow (D) Pink
LO@HEET Qeuefirdleuriny

(E) Answer not known
aflan Qs flwelldens

Which of the following 3 monosaccharides are formed when raffinose
is hydrolysed? ' - '
prdGemens  Brmougly  NearsE 2 lubsHmadld  SPES@TIL  ThHS
3 Cuglamanssmadr 2 haum@n ?

(P/(ilucose, Fructose, Galactose

' SepaGane, WrsGLrev, srawsGLme

(B) Glucose, Fructose, Maltose
GensGanev, WrsGLmen, wréGume

(C) Glucose, Fructose, Lactose
@EnsCGamav, rs&GLTey, ersGLmev

(D) Fructose, Maltose, Galactose
Wr&GLmev, wrGLrev, smaasGLmen

(E) Answer not known
ellent @sflweildane
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102. On oxidation of glucose, in the presence of nitric acid gives
GensGamanen  anplfls flaob aeilaoutd osallnGahond Qb

Cungl flepLd@b eflaperiiGlummeT

(A) Gluconic acid
Genssralls siflon

(C) Glutonic acid
Gl Lmafls oblen

(E) Answer not known
sflen Gzfluefdena

((Glucaric acid

GEHSETME Dlevtd

(D) Glutaric acid
@@l'_l_mﬂés T

103. Which of the following disaccharide having non-reducing property?

Spsar_aupile earhs el FrasamrHisE@ RBEETS LT 2 drarg) ?

(A) Lactose

or&GLmev

(C) Maltose

wirGL e

(E) Answer not known
fenL. Gsflwcidwene

(B) Sucrose
&&Grmen

(D) Cellobiose

GeaCGaruGuine

104. Carbohydrates are often referred to as because of the
sweet taste of the simpler members of the class, the sugars.
arrGurepap _GrLlBiser erenuean ———— W, ghlarempred @eaflly &eeu

g eraflu sfsaayuler au@lianu STTHSE BpELW. - :

(A) Glucose
& EBECaHTeD

(C) Sucrose

&5 rmen

(B) Maltose

wroGLmev

(D# Saccharides
FT&SEeNF(h H6T

(E) Answer not known
eflenL Qsflueidene -
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105.

106.

Identify the reducing sugars given in the options.
PHEGL FIESOTML ML UMD STaRTeyLd

(A)  Glucose ' (B) Fructose
G eBsCamev WrsGLmev

(C) Lactose (IF All the above
rsGLme Cule 2 drer Hamarsgb

(E) Answer not known
clilenL Qzflweidena

Match the following : _
Deeuheuateunenns QuTmSSIs :

Saccharides Examples
ETSEMTHHET THSH ST (H
(a) Mono saccharides 1. Starch
GurGerm endsen () - GoLmTé
(b) D1 saccharides 2.  Raffinose
- . FTESHT(H gmAlGarmeiv
(¢) Trisaccharides 3. Sucrose
Leny Fn&sen &&Grmen
(d) Poly saccharides 4.  Glucose
ured srssanyH &EpsGamen

) () (© (d)
(1(6: 3 2

(B) 2 1 4
© 3 1 4
Dy 2 4 1

(E) Answer not known
ellen Qgfweildweana

LW oo
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107. The simplest form of Carbohydrates are
sriGurenap_Grlig e ereflu eulgeud
(i) Carboxyl groups
sTrunsHd CQsrEdl
(i) Aldehyde and ketone groups
S dgenanh wHmb EGLrar GsmEd
(111) Alcohol and Carboxyl groups
SOSADTE LHmIb sTTLTESD QgmEHs
(iv) Hydroxyl groups
eapl rr&fle Csm@d

(A) . (i), (ii) and (iii) are correct (/ Only (ii) is correct

(1), (i1) womb (1ii) &M (11) wr_ b &M
(C) Only () is correct (D) Only (i) i1s correct

(1) b @Ew &M (111) v b &M

(E) Answer not known
alenL Qzflueicvena
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108. Choose the right matches among the following :
Spsaramueupdld sflurer Qurpsshsmear CarbbsBHss

(1) Zwitter 1on —  Internal salt
@ mupane wiaf 2 61 2 iy
(2) Alanine —  Presence of CH;
S| G ETEHT CH;-Qsrgdaw Ceramgmash
(3) Silk —  Single stranded structure
ul (B phen Genp el AeETarLg)
(4) RNA = B -plated structure _
RNA F-sC® Curern ienwliyentwig
(A/(i) and (2) are correct (B) (1), (2) and (4) are correct
(1) wpmb (2) sAwrarereu (1), (2) womd (4) sNwrereneu
(C) (1), (3) and (4) are correct (D) (2), (3) and (4) are correct
(1), (3) wpmid (4) sNwrarenen ~(2), (3) wpmin (4) sflurereney

(E) Answer not known
allenL Ggflwedlcrensy
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109. Which of the following amino acids are classified under essential
amino acid?
Spoumd BGam ylorselld isduraudiuwrear HBGar blwnsarms
auenaliuBSsLiL(Husnel ereney ?
(1) Valine
Ceuadler
(2) Proline
yGymeles
(3) Tryptophan -
g A GLrGuén

(4) Phenyl alanine
" Senardy everfler

(A) (1) and (2) (B) (2) and (3)
(1) wpgd (2) (2) wpmis (3)

‘ (C/ (1), (3) and (4) (D) (2) and (4)
(1), (3) wpgw (4) (2) wppw (4)

(E) Answer not known
eflenL Qsflwaidena
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110. Match the Column I with Column II and mark the appropriate

111.

choice:

Qp@euflens I & Opheuflas II oLear Qummsd Qummsswrer Gsremeud
GNEseyD :

Column I Column I1
ApHieufens I QpHeufans 11

(a) Pentose Sugar in DNA 1.  Ascorbic acid
lg..crer. e -aller GuenGLmay  Frésant Seuarmas deid

(b) Nucleic Acid 2. Uracil
Bl satls oibfleb W Tl e

(c) RNA _ 3. Genetic Material
9 IT. 6T6HT. 6] oyt Qurmer

(d) Vitamin 4, Furanose structure
aneul_L LSl S TCermeiny el

: (fd) b)) (o @

(A) 4 3 2 1

B) 3 2 4 1

(C) 2 3 4 1

D 1 2 3 4

(E)  Answer not known
clenL Ggflwefcraney

Nucleotide is formed by the reaction of Nucleoside and :
By saliCureamshier  abs Sllow  efeerulLmrd  FlusdelCureamLf

FlenL&@Lh?

(A/ Phosphoric acid " (B) Sulphuric acid
umevumiés dlewld &bhss Sled

(C) Nitric acad (D) Hydrochloric acid
Bl & Bibled el Grm@Germils =Lflab

(E) Answer not known
denL Ggflwusildvene
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112. Match the following :
Wemeuheuateupennll GummEss :

Types Examples
GUMSHFGT D& T GBuT Il S &T

(a) Non-essential amino acids 1. Valine
@amluenowrg HblGarT 2 Geuedlebr

(b) Essential amino acids 2.  Glycine
@ardwenwuyd HOCeaT =yied Slenerd e

(¢) Conjugated proteins 3. Albumins
Geaemhs LIshaaT 3oLl et er

(d) Simple proteins 4.  Glyco protein
ereflu LypgrigeT dlenarCGan Yysmiser

@ G @ @
A 2 4 1
By 4 3. 2
f 2 1 4
M) 3 4 2

(E) Answer not known
ellenL Qgfweldeana

e N

113. The DNA double helical model is discovered by
DNA-@rtanL§ emer sienliy wrymed s Rgssiiul L g ?

(A)  Wilkins ' (I-{Waéton-Crick
edlcbHetren aumt_ger-&ilé

(C) Chargaff (D) None of the above
FOM&TLl ' GuGar 2 érar wireyb @)dranay

(E) Answer not known
eSlenL Ggfweildena
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114.

115.

are organic compounds that cannot be synthesized by

an organism. But they are essential for normal metabolism in all

living things.

—— gn oWflegsrd swrfisas wywurs &flo Cerorisdr o@D
ST Seendg 2 uilflertisailer Fyren cuarifleng LIHPSIDHEG PG Seudwb

G0

(A) Proteins (B Vitamins
LTS RI&ET eneul_ L llenger

(C) Carbohydrates (D) Minerals
sriGurenan Crl(Haer SGI&SeT

(E) Answer not known

adlenL QgMweildeane

Chemaical name of Vitamin B2 and the metal present is

eeul L iflar Bz -er CauduQuuir whmid ifled sremriiu@n 2 Carsh

(A)

(B)
©)
(

(E)

Riboflavin and Cu
AGuM . AGereflen whmw Cu
Pyridoxine and Zn
auflLrseller whmb Zn
Tocopherol and Fe
GurGarsH@urme womw Fe
Cyanocobalamin and Co
suGarGasrurader whmw Co

Answer not known
eilen QgMweldene
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116. Which of the following is not a female sex hormone?
Saemsubiled erg Guem Lreler apmiGurer Edene ?

(A) Estrone (B¥ Androsterone
retol_Grrmelr oer’_Grrevl_Grymesr

(C) Estriol (D) Progesterone
erevl_Muwimed 19y Grmesr

(E) Answer not known
sllenL Qgflweldana

117, Thyroxine is essential for the conversion of f#-carotene to __ X' 1is,

‘X’ 18
B -&Grrieen X <& WLIHDD J@LUSHE MSTTES 6
sisHureudlunrearg X erarug
(A) Vitamin Big ) (E(Vitamin A
enaul_ L fler B ameul_Lifler A
(C) Vitamin C (D) Vitamin D
e Lifler C eneul_L_Bler D

(E) Answer not known
efler Gsflweldena

118. Vitamin C 1S

aveul_LBleir C GTETLIg)

(A) Lactic acid (B) Citric acid
OTHYS bl S Né ol

( Ascorbic acid (D) Aspartic acid
SeV&TTAE Bibleub SLELUNTIG S BjLieod

(E) Answer not known
cllenL Qgflweldrene
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119.

120.

121.

Identify the hormone, that has been used for the treatment of
rheumatoid arthritis and rheumatic fever

WPL&E QUTSD HMID (BT g5 STUEFI&E
LWeTURSSUILHL apriCnrepaTl e Wmearb sramaid

HAFemsweN s

(P/ Cortisone

&g Gemelt
(C) Oestrogens
e Gymepes
(E) Answer not known

eler G flueidwena

(B) Thyroxine
ang iy edlen

(D) None of the above

 Culea 2 drar wreyd @oame

Identify the vitamin which causes night blindness on its deficiency
eThs eneul L Lblen @enmumiger Gumg wrenessear GrTU ghuBib

(A/ Vitamin A

eneul_LiSlem A

(C) Vitamin E
eneut_ L ifler E
(E) Answer not known

ellen Qgflweildena

(B) Vitamin D

ameul_LWler D

(D) Vitamin K

ameulfler K

Identify the linear, isoelectronic species from the following

Gesreu(meuamaupMelmig  Crflwe
Qesdlamer samLils '

(z/ I\
2

(€)
(E)

Co,

Answer not known
cllen Gafluefdraney
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GTUEGTTET  GTRITem ] SHene eIl

(B) BF,

(D) NH,"
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122. Which of the following ionic species contains ‘dative’ ¢ bond?
Spss@TLoupmie aThs Sl e O Wemeammgenul Cupmierarg ?

(A) carbonate ion (B nitrate ion
srTuCGe. <=y wefl Bl Gr owafl

(C) sulfate ion (D) perchlorate ion
FOCLL jwead Quir@GermCri® <weaf

(E) Answer not known
aflen Ggflweilcreney

123. Arrange the bond angles of the given molecules in decreasing order.

H,O, H,S, H,Se and H,Te

Qar@ssiiul L peossmmpsaie Gemanriiys Careansens @omiig euflensulid
auflensliL (NS85

| H,0, H,S, H,Se wpmw H,Te
(4 HO>HS>HSe>HTe (B) HO<HS<HSe<HTe
(C) H,S<H,0<H,SSe<H,Te (D) H,S>H,0>H,Se>H,Te

(E) Answer not known
slen Gaflweldena

124. Identify the hybridization involved in XeF, molecule

XeF, epasamfo o dar @enssotiomu sarda
4), sp’ (B) sp’d
(@ sp’d” | (D) d’sp’

(E) Answer not known
cilenL Ggflefdeana
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125. The atoms have eight electrons in their outermost shell 1s known as
o, slgnsatian Gouefléamiined T B erevslqrenser @ mLing

(A) Fajan’s rule
Lisprese eild)

(C¥  Octet rule
&AL efdl

(E) Answer not known
elenL Ggflweildana

(B) Doublet rule
@rienL allgl

(D) Hund’s rule
Tl edl5)

126. The molecule SF, has the structure of

SE, apeseien s el eremg,
(A) Octahedral
erair(pd)

(({ Trigonal bipyramidal
wp&Garenr @)mHEATOlLe

(E) Answer not known
“ellen Ggflusicena

71

(B) Square planar
T FDSETID

(D) Tetrahedral
BITSTLpSl
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127. According to VSEPR theory, which is incorrect regarding ammonia
molecule?

VSEPR Qanérensuden sigliver @, Spasrdmuepmer g swbGureaflum
ppEFmNI&SE CUTmBSTSS) ?
(A) It has 3 bond pairs and 1 lone pair of electrons

Qeupdléd 3 Gty @rielsdr wHMD @ Qoan salss

TS TGS (@R © ararg;

(B) Its central atom is surrounded by both lone pair and bond pair
@Qeupler e ey safllss wHmb  Geartiy  GL.ELE&ETTED

GWUULC (HeTerg

((/ Lone pair — bond pair > bond pair - bond pair .
saflgs @rieL — Aevemriiy @riesl >  Hepewliy @rlen  —
SenemriiLy @y enL

(D) Lone pair — bond pair < bond pair — bond pair

saflgs @mieL — Ueariy @Qriel < devemiiy @rlev.  —.
el @yl ) ]

(E) Answer not known
sllen Gsflweildeana
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128.

129.

Identify the correct statements : Diborane has

sflwunen amperp saTHdly @ e GurGrer euigeuawrded
(a) Four terminal B — H bonds .
Bran@ e B — H Geerriyser o araren
(b) Two bridging 3C — 2C bonds
Qrani ure 3C — 2C Qeveriiyser 2 dreme
(¢) Hydrogen bridge structure
eI IIIe LiMe GUlgeuanlolil] QararrL g

(d) B - B’ bond length = 1.19 A
-B® Qevawriy Sers = 1.19 A

(A/ (2), () and (c) (B) (b), (c) and (d)
(@), b) wppd © - (b, (©) wpmid (d)

(© (d)and (a) (D) (=), (b) and (d)
(d) wppi> (a) (2), (b) whmd (d)

(E) Answer not known
ellenL GzNwelldvens

Borazine has six-membered ring structure of alternating boron and
_ atoms. _ ' .
Gumynéenr, Gumyrar LHMD ————— DeNGH®ET Getm U5 eem eren
DL HE AT Jewlienus Qaram(BeTang).
(f Nitrogen (B) Hydrogen
anIB L6 ' GOEUD L] R 6T
(C) Oxygen (D) Silicon
DpGedl e Al G menr

- (E) Answer not known

eflerL Ggflweiidana
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130. Identify the incorrect statement about ClF; molecule
CIF; epasamdlerart upflu geuprer saphlever Ggfley Qe
(A) In ClF;, Clis sp®d hybridized
ClF; &, Cl sparsy sp’d @Qersseny Qupmerears
(B) The shape of Cl1F; molecule is T-shape
ClF; ppavgeaden eugeud T sugeud

(C/ In ClF;, Cl,,-F-Cl_, bond angle in 180°
ClF; & Cl,,,-F~Cl,,, e GeoaruysGaramn 180°

(D) In ClF3 there are three bond pairs and two lone pairs around
Cl atom |
ClF, & epery Qevanriy Gmmg, @reanh salss Cmmg Siemwliyser
Cl & apPluyereren

(E) 'Answer not known
aflenL @gflweidane

131. Which one of the following element has non-spherical outermost
sub-shell? ‘
SpseanL. seaflwrselidr i Carer eugeuwders Qeuellliyp  geews
gl igenen Claramherarg

(A)  Be (B) Na
(C) Li (D¥ B

(E) Answer not known
allenL GsMwsllcdvana
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132. Boron halides are
Cunprér CapanaHEeT ————— oy lb.

(A) Ionic compounds

sjwelld Carorugser
(B) Metallic compounds

Carssd Carnrgser

(C/Etlectrbn-deficient compounds

qTSLgTe UDDTEGmD GCFMDBIGET
(D) Lewis bases

aruiley &mrBISeT

(E) Answer not known
eflenL Qsflweldena
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133. Match the items in Column I with its applications listed in

Column IT :

Ap@euflens I @ 2erar 2 muugsemar II Gd ulgwedlLtul Hemer g

vwerurGieer QuTmEis.
Column I
Qpheufens 1

(a) Silica gel 1.
fellsar Gmed

(b) Silicon 2.
Sel&amen

(c) Silicone 3.
A0l &Camen

(d) Silicate 4.
Sl &CGaL.

@ b @ ()
@A.,2 4 1
®3 1 4
© 4 1 2
2 1 4

(E) Answer not known
ellen QgMwefdana

W W oW

Column II
OpHeufens 11
Transistor

g gredleuLir
Ion-Exchanger
S wefl—uflomh b
Drying agent-

2 itsgIh Qummer
Sealant

EovetorL_

134. Mention which one is Borazine

GesreumeuameunmMed ergy Gumgdeir
(A) B.H,

(C/ B,N,H,

(E) Answer not known
eflenL Qgflusildena
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(B) B,N,H,
(D) B,N,H,
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135. Statement I
Sifsens |

Statement II

Sifsens 11

Acid strength increases in the order given as
HF < HCl < HBr < HI.

HF < HCl < HBr < HI erer Gen@ssuuc L euflensulicn
<l eusdleny fatlsdng.

As the size of the elements F, Cl, Br, I increases
down the group the bond strength of

HF, HCI, HBr and HI decreases and so the acid
strength increases.

safl Qznedula Cuadmps ECpeamp Guryg F, Cl,
Br, I syflweupden g sereysar siflsfuugre HEF,
HCl, HBr wppw HI epdueapdear Qevearriy ‘ausllenw
GaDEDg. sigaTd e eudlew wHafssng.

Choose the correct answer from the options given below.

&G Qar®mssniulHeer eleanLsefléd sflwmer u@me’og Gg,rrg;@g,@asasmm

(A) Statement I is incorrect but statement IT is true

Méws I saprearg e sfsams 11 sflwureg

( Both Statements I and I1 are true
<ofsems I wppo I @ran@Ew efwurearg

(C) Both Statements I and II are false
sifses 1 vhmn 11 Grarhin seuprerg

(D) Statement I is correct but Statement II is false
<fsews 1 sflureng aammed sflsas 11 seuprerg

(E) Answer not known
eflen GgMwellerensay
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136. According to Mendeleev’'s periodic law, the properties of elements

are periodic functions of their

Quer_aSoGer  peutsgar eAfliug, seflwmseier uLaTUseT eubhbden
QUIT(ESS HeUTSSRT FTTUTE HaPSlGTDHeD.

(A) atomic numbers
G CTEOTGHET
(C) densities
' LTSS ST

(E) Answer not known
eflen QgMwelievana

(B atomic weights
Sie Hlevpaer

(D) volumes
ST S| ETEYHET

' 137. Which one of the following resembles silicon in its properties?
SpssamLeunmer ereneu Hellsaraflen uadiysalldy @sHmaEn?

(A) Al

«f B

(E) Answer not known
dlenL. Ggfweafdena

(B) Ga

(D) Ca

138. The amount of energy released when an electron is added to the
neutral atom in the gaseous state to form a negatively charged ion is

known as

Gumy ‘ﬁmsuuﬁleu o arer e BHE sign erdmbler oweflew 2 (Heurss @@
caslgrevart Gumid Curg GerefllLLu@n SyHoedler semay

S p&sLILHiSDg).
(A) Tonic radii
: SWIET ey TLD

(C) Electro negativity

GTEO&GL_ITITEST &G TSHENEn LD

(E) Answer not known
sllenL Ggtlwelidena
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(B) lonisation potential
waflwrg@id. <hme

(J) Electron affinity
GTED&LITITES B L LD



139. The electronic configuration of the element 5B is

5B gsaflwngern erawslgrer siepwliy erémug

(A) 1s?
(C) 1s22g2
(E) Answer not known

eflenL Qgflweildrena

140.
gaseous 1solated atom 1is called

(B 1s2 282 2p!
(D) 1s2 28!

The amount of energy released when an electron is added to a

om salss ary Hoolgera Hgpeie aaslgrer GerssuuboCurg

Qeuatlum@d gy Hpeilen 2amey

(A) Ionisation potential
Swelurs@n e

(C) Electro negativity
GTEL&HL_TTEN &6UTHEITEnLD

(E) Answer not known

ellenL Qgflweildene

ere L.

(B) Ionic radii
Sjwafl o7b

(Délectron affinity

GTE&LITITES BT LD

141. Which of the following tripositive lanthanide ion shows maximum

magnetic moments?
SpsamLeupme  oidle
rpsmar(h wefll erg?
A)  Gds |
@ Dy~

(E)  Answer not known
sllenL Qg flweicrensy

79
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~ (B) Nd3*
(D) Pm3*
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142. La3t 1on 1s diamagnetic and colourless due to
Ladt guef enwn arbg semenwwerLwg wHnib Snwhog sryemsib
(a) Paired electrons
@yl e eredLrerSeT
(b) Unpaired electrons
DD@RTUTETS GTaVEL [TETSHET
(¢) Empty f-orbital
' ﬂqui_luuu_rrg,' f- oy mA Lmed
(d) Half-filled f-orbital
gflurd Hytutt . f-emic L ré

(A)- (a) and (d) . (B) (b) and (d)
(a) wpmiw (d) (b) womw (d)
((/ (a) and (c) (D) (b) and (c)

(a) whmid () (b) womib (c)

"(E) Answer not known
eflen QgMweilcrencd
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143.

144.

Match the following :

QummSsIs

Actinides

24,5 1960 &3 (H S ET

(a) U3+ 1.
U3+

(b) Par 2.
Pa4+

() Ams3* 3.
Am3+

(d) U+ " 4.
U4+

(ﬁﬁ) ® (© (@

o2 3 1 4

(B) 1 2 3 4

C) 4 3 2 1

(D) None of the above
TEHGYLD @bene

(E) Answer not known
sflanL Qgflwellcvensy

Colour
Hlpid

Pink
@)em@pdlautiLy
Red
fauriy
Colourless
Bpwpos
Green

UFGNG

Among the given f-block element, the one having highest magnetic

moment value 1s

Qar@ssuuc parar f-Qsrgd saflvhsalar oifls Hpuy S wiay

QamaTL gem)
(A)  Gds+
(C) Tms3+

(E) Answer not known.
alen Qgfweitvana

(136573*

(D) Pms3+

81
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145. Oxtidation state of cerium in ceric ammonium sulphate is
&Ml SwCuraflwb soGul iy o drar FAub Swalullen o&aGLager eram

(A) , +2 (B) +3
(@) +4 (D) +1

(E) Answer not known
ellen @gfweidana

146. The general electronic configuration of f-block elements
f-Qsr@d saflivmsaien Qurgeurear sl Frer @RI

(A @-2f(n'-1)d""%ns? (B) (n-2)f""(n-1)d'?ns>
(Q/ (n-2)f1 M (n-1)d" 'ns? D) (n -2 n -1)d%ns?

(E) Answer not known
dflen_ Qafweldene

147. Thorium nitrate mixed with Mg powder is used
Corflub apl Gy whpw Gwsaidluw o Cors sabs swae

vweruhEng).

(A) 1n motor car | (B) in Tungsteﬁ filament
FmpSulled mienLer @Llenpuwisled

(C) in filament lamp (I&# as flash powder
Blevip-alilats @ ' Cu@oralGuir® erfluyw grer

(E) Answer not known
aflenL Qgflweidena
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148. Which of the following are member of 15 naturally occurring

149.

metallic chemical elements whose atomic number are between
57 to 71

o Garrg Goudl oam erar 57 psdd 71 eueny CQarawe 15 Qupens 2 Cors
Ceudl saflomige CarhiEsuulLaneuwe oThg 2 milieou smibsgl.

(A) Alkalh metals (B) Halogens
&1y 2 Cersd QD TGO ERET S ET

(¥ Lanthanides (D) Actinides
OIhG e (hH&ET 2 dh1q en 6ot (H Gl

(E) Answer not known
 ellen Ggflwelereney

Zr(Z = 40)Hf(Z = 72) have similar atomic and ionic radii because of
Zr(Z =40)Hf(Z =72) <gduewas @5 gy LoD swell  pd

Qanerperarg smyeuTd

(A) Diagonal Relationship

wereadl L Lgriry o eLug

(B) Belonging to same group
@rar@w Gy dargdulamer sribss

(({ Lanthanoid contraction
rpgsenar(h Gn&ESD

(D) Similar chemical properties
@0y CaudluerTEenaTuenL_wg

(E) Answer not known
sllenL Qgfweildrenc
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150. The correct statement about actinides are
&g earpsaar uhBlu eflurer o

(A) The 5f electrons of actinides are bound less tightly than 4f
electrons

5f Qzn@d s gransmer QerarL @Qee 4f Qsrefsemer oL

(HEDEUTET GUENeND 2 enL UG

(B) The trans uranium element are prepared artificially
LT TebTah yCraflws SN DOBIGET Qawumhensgusmes apenmuiled
swurflssLuRdpg.

(C) All the actinides are radio active

SADTES G ATHsEsD sdiiuss saawdsTar g

a/ All the above

marsgIh Flluranana

(E) Answer not known
allenL Qaflwelidene

151. The number of neutrons present in B, ®He, 0O and F are
respectively

1B, 3He, Y0 LodHmILD g SiEISHEBEEaND o drar Byl prensete
craTemtiGena pennGwl '

A) 6,0,9,9 (M 6,1,9,10
(C) 5,1,9,10 ‘ D) 5,1,9,9

(E) Answer not known
efilen Qzflweiaena
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152. What is the product of nuclear fission when 23°U emits an
a —particle?

335U QR our gja;mm‘ Qeuall@@w  Cumg emssm  Gereller

cllenanGlummeT ereieas ?

(A) Neptunium (B) Plutonium
QpLiBeflwi Yepl GLmaflunbd
(C) Protoactinium Thorium
HCrm Gy digeflutd Camflwibd

(E) Answer not known
eflenL GgMwelicdvena

153. The element %981, 3P and %?)S are called as

081, AP ppmn BES gbu seflvrse ——— e
DinP&aLIL[HSlepen. . ' .
(A) Tsotopes (Wones
oGenGLrlyser sGarCLmenser
(C) Isobars (D) Radio active element
sGerumiaer sHNLGHS SetlbrseT

(E) Answer not known
alen Qzflweidensy
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154. The number of & and f particles emitted during the following
nuclear transmutation
90 Th232 g9 Pb208

Spangyd o & o moippsde 2 Hptuhbd o wppd S gsdasefer
eTeTemtl S en

90 Th232 82 Pb208

(A) 4a 6p ({ 6a 4
(G 4a 4p (D) 6a 6/

(E) Answer not known
elten GgMweldane

155. 1f ¢, Po?'” emits one @ -particle and one SB-particle the new element
falls in whnich group in the periodic table?

84P0210' @m o -gsmarybd @ f-gasmeryb Geusflel@ureamed Ggrermib
ydw geflob, sailvw euflens L Leuamamid abg QsrEHulid Siemwuyw.

(A) III group (B) IV group
III-Qsmad | IV-Qsrsé

( V group (D) VI group
V-Qsrgd VI-Qsred

(E) Answer not known
sflenL Qs flueidena
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156. Assertion [A] : In most of the reactors liquid sodium metal 1s used

157.

as a coolent.

sapm [A] : Quepburerenbwrer  em 2 easaid  dreu  Gemgw
2 Gansd @eattelliurerms LweTuh&Dg).

Reason [R] :  Liquid sodium does not transfers the heat energy
to the heat exchanger.

sryewd (R] » Slgeu Gemquid  Qeudy  gyhpere  sfeur  uflwrdHobd

QFugleucbane.
({ [A] is true [R] 1s false

[A] &M oparmed [R] geum
(B) [A]is false but [R] istrue
[A] soupy wppid [R] of
(C) Both [A] and [R] are true
[A] wppd [R] @renGid of
(D) Both [A] and [R] are false
[A] oppis [R] @ran@od seup
(E) Answer not known
eflen Ggflwaeildvena

Uranium has atomic number 92 and atomic weight 238. Give the .

number of electron, proton and neutron in its atom.
yCreflwsdenr gy eremr 92 whmih Hem el 238. wCraflugda o drer

ereodrgmen, YOymlLmem whmibd Byl yrer samrddl (s,

( 92,92 and 146 (B) 92, 146 and 92

92, 92 wHMID 146 92, 146 wHNID 92
(C) 146, 92 and 92 (D) All are wrong

146, 92 bHMID 92 » DDSTHFID S DTSRI

(E) Answer not known
aflerL Qg flueidena
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158. Among the three isotopes of Neon 1oNe, 23Ne and 2Ne the nucleus
with lowest n/p ratio is

Qsr@ssuur @erer  Surer  saflbmseid  yNe, ZiNe whHmd 22 Ne
< Slueunidle Blegmpbs n/p wHiyoLws.
{ Ne

(&) {oNe (
ZNe 2ONe

(C) ¥Ne (D) All the above
io Ne Qe sreanggid

(E) Answer not known
sllenL Qgfwueidenc

159. Calculate the disintegration constant of Nickel-60 if its half life to
produce Nickel-60 is 5.2 year

Hlssd-60 Qe sdfluss Hoge wifld smssh. Hasw-60@a i@y aump
SMTQOWD 5.2 ,&mRaeT

(A) 7.5 years (B) 0.13 years
7.5 et (h&er 0.13 er(h&erT
( 0.13 years! (D) 7.5 years!
0.13 Sy amiHaer ~! 7.5 eamhiser !

(E)  Answer not known
eflen Gsfwefdena
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160. Which one in the following is not an isotone?
\Qetreupeuameuppiet pmGarGLrer Mg 615 ?

@) L & BC
© N D) §°0

(E) Answer not known
den @gflweildane

161. Mutual exclusion rule is not applicable to the following molecule.
urELUTD elliged Qaraiens Weteumd b fpasamMnE Qurmbsg ?

(A) H, (B) CO,

(0/ CS, (D) N,0

(E) Answer not known
dllen QaMweiidane
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162. Incorrect statement of IR Spectrum of water (H,0) molecule.

B (HyO) ppavssafipsrer unsagrsdi (IR) fpwremmw upsl @eremb
FHE SeUDTENE).
(I)  Three normal modes of vibration of H,O molecule
B ppevdanm, apem BigliLen (pahHisaar Smib.
(I} Asymmetric stretching frequency has highest stretching value
Erewwhp HrLd wiftey, oL sul s by QeraTig(HaE@LD.
(IIT) Bending frequency value is higher than stretching value

euanaTgd dliey, BrLd wflireysaflar oflrbeuamanammeliL éqgf,]asut_&
bHlieu CeramgmaELD.

(A) (Donly ‘ (B) Both (I) and (II) _
(I) b @w D wpmn (II) dw @ran@id
(C) Both (II) and (III) (%) {III) only

(II) wpmd () wfu QrenEod (IIT) e @b

(E) Answer not known-
sflenL Qgflweildana

163. The selection rule for pure rotational Raman spectrum of a diatomic
molecule is,

Q@ posmms@EpssTar, gnu spHd @orwer Hinwreeulldar Cairey elld wing ?
(A/HDAJ =0,+2 (B) AJ=+%1

€ AJ=0 , (D) AJ=+2,%3

(E) Answer not known
sflenL Ggfluefcbena
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164. Choose the correct matches among the functional group with

corresponding vibrational wavenumber (cm™)

\Yetreu(peuareuhmieT,eflevan QFwicw QsrEdsE Eeneamurar oidiiey-iena& eusi
(Q&.B.7h)

sflwuns QurmssIUL(HidTeTens S Pls.

A)

(B)

— O -H stretching
-0-H S oidiey
N -H stretching
N-H giieé sidliey

(V C = O stretching

(D)

(E)

C 0 frie Hfrey
—CH; (-C - H stret)

—CH; —-(C-H frrd sifiray)

Answer not.known

eflenL Qgfluelideana

91

3300
3300

3600 -

3600 -
1780 -

"~ 1780 -
3590 -

3590 -

3800

3800
1680

1680
3200

3200
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165.

166.

Diagnosis of metabolism errors in newborns are exclusively done by
using
ydsral Gobs @ubomsselda eeattdlang wrhpll Genpsamers sam_Hlse
U vweatuhiss ArsHGwurswrs GeuwutiuRdpg.
(A) High pressure liquid chromatography
Wit s Slyeu euamenritfeyLig ens

( Gas chromatography — Mass spectrometry

eumy euekmentOffley L ens - Hlap Flpdowredl
(C) Gel chromatography
_ Qgged euamentLGflaLigens
(D) Mass spectrometry

Blenm Blmeinmenfl
(E) Answer not known

eflen @gflweldwens

In mass spectrophotometer, the mass of the positive ion determined

by the based on following equation,
llf)]@)'ll) (lf,],rpmrrma)ufﬂm @@® Criller nweluler @Gmﬂ)urremgj emeu(mbd Gr;f,g,

SswaTurlen vweTu(RSS sarLdlutiuBEng.

(A) m_Hr ( E:Hzrz

e V ' e 2V

A ' m° V
 Z_=¥ D) 2 -

© e H%r D) e H3y2

(E) Answer not known
ellenL Qgflwaldena
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167. The incorrect match of nuclear spin (I) with corresponding nuclei

168.

ereupid BigmsshEseter, agnsa swnd (1) eflurs QurmpbsTsg.

Nuclei Spin (I)
DI (T sipné (D)
&) F %
® !B %
( 150y 1
© %

(E) Answer not known

cflenL Qgrlweilcdene

The NMR frequency (in MHz) of the proton (IH) ina magnetic field
intensity 1.4092 T, given that gy =5.585 and uy =5.05x10727JT!
ahsll Yo Qedlelenr wHuy 1.4092 T, eaefleo yGpmiimen (1H)
DI S&H(Hedl 6T S Hlireleu et WITg) ? (Garh&sul_perer S L&
gy =5.585 wpmib iy = 5.05x10727JT )

(A)/OO MHz (B) 120 MHz
(CJ” 60 MHz ' (D) 30 MHz
(E) Answer not known

eflenL Qg flwaldana

93 430 - Chemistry (Degree)
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169. At the coalescence temperature 331 K, the frequency separation
between the two NMR signals of N, N- dimethyl acetamide 1is

10.85 Hz. The rate constant for the first order chemical exchange of
the two methyl groups.

331 K gmudaanty Qeuufaauie, N, N- oLCwsdd odlLanh

ppwsamdler @ram® NMR wes@ssmarg 10.85 Hz HenGermi L Geflelieh
Gfdpg  ealld, @ran@ Cwsde  Cdsmgdserssres Goududwidd
ufbrppsdoster W o Ligeuamassrar edlanar Sousombled wmg ?

(A) 45.1 st (B) 24.1s7!

(C) 48.4s7! (D) 20.44 s7*

' (E) Answer not known
cllen. Qsfuefdene
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170. The following set nuclel do not show nuclear magnetic resonance.
Geteumd iegmisamesafleanr @eanemsalis, HEmEs®m &MHs oL aflaseés

171.

2 L LILMEEL

M) 'H and *H
'H WwHmILD ’H

dD) !2C and *C
12 oHpIb 13

(II) 3C and S

13C WoH LD 128

(IV) '®0 and S
160 LoHmILD 12g
(A) Both (I) and (III) only
(I) oogw (I1I) we o
(C) (IID only
(IIT) we. b
(E) Answer not known
allenL. GgMwsiideney

(B) (ID) and (IV) only

(II) wpmb (IV) wi @b

Df V) only

(IV) v @b

The wave numbers of the corresponding spectral lines in pure

rotational raman spectroscopy 1is,

s &pHdl @oroer Flnoraeudd sieme aanGarr(h GsTifyeLw Bipwree

Cany : :
(A) U = O +4,
(C) U =AU +0«

(E) Answer not known
ellenL Qg fluaidena

95

By U = AU - Ue

VD = Uux - 4,
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172. Which one in the following is incorrect?
Spanaruabhhd erg seupTeng) ?

(A p=10-6
p=10-0
(B) ¢ Value of CH;l is lower than CH3Cl
CH;l ér d wdiiy CH3Cl 5 ALs@eney
(C) Protons in TMS are equivalent
TMS -6 o drar YCymLmenseT oeneanggid ecrﬂ@a;mrmmm

(I/ o value decreases with increase in Electronegativity
qsLITET s seteld dFsnrgd Curg & ledr vy Gondns

(E) Answer not known
elilenL QgMueildvena

173. In Raman Spectroscopy, radiation scattered with a frequency lower
than that of the incident beam is called

gmoer Hpwreauiudd olypsdmpudear (Incident beam) =8iGQeuamenent
i, Gopeurar afdiCeusr Csram. Hzpesstu’ L sfreiss ereueummy

QanpssiBdng ?
(A/ Stokes radiation (B) Anti—Stokes Radiation
G mgeh sdHieiss adi—ecvGLrden sfieige
(C) . Polarizability . (D) Raman Active .
(R (LpenaTLIL| TTDGHT <%,&lq 6t

(E) Answer not known
sl Gsflueidena
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174. The A, for the following molecule is

175.

176.

Spsene epwdanpiler Ay ..

CH:] I/\’\
(A)/335 nm _ (B) 288 nm
(C¥ 235 nm (D) 532 nm
(E) Answer not known
ellent. GaMNwueildene

Raman Spectra is observed in
@rrwer Fimwrene Memeumhd erhs LGS uUld sraTuuBEDG ?

(A) UV region @ Visible region
Ymosrg U @bl SLUT@GHD LGS

(C) IR region _ (D) Microwave region
SisFfleutiy UGS mieiTemTenay Ligd)

(E) Answer not known
ellen AgMweidana

For a carbonyl compound, a more intense band is observed in
UV.-visible region for transition involving

UV - siywenrgw fipwreeula srmuamarn Gsroh smb s Gsbleydrar
U enL_udler Wwrhmnw '

*

(A) nonrm ( T>T

Q) noo . D) o0

(E) Answer not known
edenL. Qgfiwslidvana
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177. A quartet has an intensity ratio of in NMR spectrum

NMR - flpwreeule prasrs smaoudlie] elfgn — —— G
(A),1:3:2:1 (B) 1:2:3:1
( 1:3:3:1 D) 1:1:2:3

(E) Answer not known
alen QgfMwefdens

178. Among the following, the NMR inactive nucleus is
Aaneumeraaupdes e 2 sm NMR Qeuabmg ?

A N, (B) 3P,
( 24Mglz (D) 298i14

(E) Answer not known
aflen Qzflwelldenc
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179. Choose the right matches

sllwuner Qumpsshseamer Gaiiey Gl
1. IR Detector

IR saw g Oumer

2.  Nernst glower
Qpremevl. @Germeur

3.  Spin—Spin coupling constant
Erbée'o—aﬂc.pd) @enemTiiy wrhled

4, Monochromator

CurGerr &CrrGuwim

(A/ 2 and 4 are correct

2 wHmb 4 &l

(C) . 3 and 4 are correct
3 whmbd 4 Fii

Answer not known
efer Qsflueiidana

(E)

99

— Convert electrical energy to
thermal radient energy

- Wler gyppeve Geuliu <y hHpors
wrHpspg)

— Non conducting at ambient
temperature and  when
heated it becomes conducting
constant

- &poUYp CeuliuBlereuliey

SLSSEDST SAD3)
Qeutiuiupggn Curs

sLEZISHmen GameTennd

- S

_ 8

— Separating wavelength of the
source radiation

~ passdlicisfan e Borsas
& ng .

(B) 1 and 2 are correct

1 wHmib 2 &

(D) 1, 2, 3 and 4 are correct
1, 2, 3 wbHm 4 A
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180 Which area of the IR Spectrum is called functional group region?
s&faulry fipssdi Blrelwale Gsred emiuy UG ag?

(A) 3000-4000 cm! (]?)KOO—ZOOO cm-!
(C) 2000-4000 cm-! (I7) 400-4000 ¢cm-!

(E) Answer not known
eflen Qgfluafcency

181. The function of the Chopper in Atomic Absorption spectroscopy
gm 2 Hgraams Hipwramanraiuila shlubuller Cewed wrg ?

(A) To split the beam into two
. ghepenw @reLns Wfl&s
(E{ To break the steady light into a pulsating light
fenawirar geflapapearu giysser qeaflshapuns wrmp
(C) . To filter unwanted components .
Caeneuwpp qeflanapeni cuigst L
(D) To reduce the sample into atomic size
wrdlfl jerenel e SieTellDE G@DSHD

(E) Answer not known
cllen Qg flwaldena
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182.

183.

Treatement of toluene with nitric acid yields is/are
QLepelenan enplfs SjblewsgLdr o uhisgswb Curg deLs@h Gummmer

(A) 6 — nitrotoluene
0 — e CrrQugnelien

(B) m — nitrotoluene
m — enpLGrrlLgyaies

(C) p — nitrotoluene
— anpL_CrrLgyeier
(D/; — nitrotoluene and p — nitrotoluene
0 — epl Crr@Lgueliar womb p — epr-CorGLgnelen

(E) Answer not known
aflenL Ggflwaidena

The chlorination of methane in the presence of ultraviolet light is an

example of
B&Caenar  ypossr  gefluiar  (pemafleneuics  @Cerriigyi e ellenent
B Qumietg —————— TOSHSETLH G0

(A) Nucleophilic substitution reaction
&(mE6UT LSH edlenen

(B) Electrophilic substitution reaction
ersL_res seulm LiFaS(H ellenar

(C( Free radical substitution reaction
gafl 2 miiiy udad® eSlener

(D) Electrophilic addition reaction

GTa&L_Tme SHeui Fal (B eilener

(E) Answer not known
eSlen Gsfwealdeae
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184. The major product of addition of HCI] to 3—methyl-1-butene is
3-Qugda—-1 Gyl eanyrer HCl Goisans eoflemender Gurg Caremmibd
&S efleneriGummer
(A) 2-Chloro—3-methylbutane

2—@&CernGyr-~3-Qwsdle Gy, GLem
(E( 2—Chloro—2-methylbutane
2—@&GarrGrr—2-QwsHd 9w, GL e

(C) 1-Chloro—2-methylbutane
1-&CennGrr—2-Gwsdandiy, GL e

(D) 1-Chloro—3—methylbutane
1-@ECarnGrr—3-QwgHo Gy, GL_en

(E) Answer not known
eflen Qgflweldena

185. Iéopropyl bromide is treated with alcoholic KOH to give

mGsmyCrrevued UGrmew@-eow pdsanrdle KOHew ofeau@agn
Curg SlenLd@w Qumper ,

(A) Isopropyl alcohol | (B) Propene
- gCsmyCrranLidd 2y osamTed yGrroSen
(C) n—propyl alcohol (D) Propane
n - 4GrmepLed =y, sammed HCrmuGuiel

(E) Answer not known
ellenL QgMweRNrency
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186.

187.

188.

2—-halopentane react by Saytzeff's rule to give the more stable alkene

Ge_ Qa0 (Saytzeff's) efifluden epaw 2-CanGarGuenGLer elamariu@sgib
Gung s Blevewirar Hodmen GarhHid@n

(A) 1-Pentene (B¥ 2—Pentene
1—Queitie 6 2 QUi ie 6
(C) n—Pentane (D) none of the above
n ~GlueTGLes Cule ergiayb @dame

(E) Answer not known
ellen QgMwefldena

The reduction product of acetone with L1:A1H4 and then with water

8 Gurener  LIAIH, whmpn £ Garer®h e@ssnd Qeuyd  Gung
fenLs@d aflenariQurpatlenan erapg)s.

(A) Propane _ ‘ (B) n—Propyl alcohol
CrmuCGue n - yGyrepued yasanmed
((/;sopropyl alcohol (D) none of the above
oGeryGrrepud ,dsanmed Cuwle ergiayd {evane

(E) Answer not known
aflenL Qg Mwueidens

The reagent needed to covert 2—butene to Butane.

- - wellel(pHg Gl Cuenenms wrhp Gaepeuwnes edflenemGlummeT

(A) Na/NH, (B) LUNH,
(C) LiAlH,/H,0 o H,/Ni

(E) Answer not known
ellen Qg flwelldbana
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189. The reagent needed to convert cinnamaldehyde to cinnamyl alcohol
HenarordgmanHuidGhg Seaterand  dsaprd  wrHp  Cseeswmen

Senen sy

(A) LiAlH, (B) Lindlar Catalyst
LiAlH, el ellenanddl

(C) Mg/Hg,H,0 (D% NaBH,
Mg/Hg,H,O NaBH,

(E) Answer not known
alenr. Qafluaidrena
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190. The correct order of the reactivity of substrates in the Sy 2 reaction
Sn2 deande eemau@umnmailar elomardpaiien sflurar auflans

(A) Tert — Butyl bromide > Iso—Propyl Bromide > Ethyl bromide >
Methyl bromide

epellememus Gyt ent e LCrmanwh > mCaryCrriieud LGrreow; >
erdsld yGrmenin(® > QwgHler yGrmeno(

(B/Methyl bromide > Ethyl bromide > Iso—Propyl Bromide >
Tert — Butyl bromide
Qs yGrrmerw®h > asdd yGrrenw@E > mGaryCrriiemud

. uGrrenn(® >epeilanamu Guc et LGrrenw®

(C) Ethyl bromide > Methyl bromide > Iso-propyl Bromide >

Tert — Butyl bromide

asdle yCrmenn® > Qe yCrrenw@ > KCGsmyGrmisnud
LHCrmenw® > epellenanu Wy, end yCrrenw(

(D) Iso-propyl Bromide > Tert — Butyl bromide > Methyl bromide >
Ethyl bromide

wGsryGrmiuenud® LGrmew® > epeaflenerw Wyl erd yGrrenwd >
QugHe 4Crrenw® > ergHled 4GrTenw

(E) Answer not kﬁOWn
edlenL Ggfweilwene
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191. Choose the most stable carbonium ion from the following
QeneupeuareupMelmphbs  Waayd  Hleewrear  smGureiun  wallew

Gg,{r‘rﬁ.@g,@é;a;eqm
& (cHy),C ®) CH,
© (CH,),CH (D) CH,CH,

(E) Answer not known
eilen Ggflweidane

192. The bond angle of SP hybridization
SP;]mésa;mlﬁlemgﬁeh Qenewrtiy CamenTid

(AY 180° . ' . (B) 109.5".
180° 109.5°
(C) 120° (D) None of the above
120° Guwle 2 érer wimeytb @dene

(E) Answer not known
eflen_ GgMweildweana
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193.

194.

Identify the correct number of bonds present in Methane (CH.)
molecule
BsGsen  apovsamPled  2drer  Qevamiyseilean  sfluner  cravanllsmsows

sam_flueb (CHa)
(A) 4o 27 (B) 40 4n

(c/ 40 Orn (D) 20 27 -

(E) Answer not known
cllenL Ggfwalcbana

Choose the right answer:

Halogens are deactivating ortho/para directing group in aromatic
electrophilic substitution reaction due to a

aun Gev ey et a el NN DL 1q. Tl G(peneu SIGrrGbL 1y &
crasl Grrualls wrom adliellevariear arramwnrs ewdpsss Qeudlermer.
@& agarmed eTemmmed

(é/ Combination of —I effect and +R effect

~I enerey whmibd +R efenetey pHwieubhler swama
(B) Combination of +I effect and —R effect

+1 efemerey wHmbd ~R elearey g flweuhdlen sewane
(C) Only —I effect and no +R effect

—1I sflemarey W HCW wWHYW +R Mamarey Gdane
(D) Only =R effect and no +1 effect

—R efeveray L HCw wHmd +1 eflenarey Gewane

(E) Answer niot known
cienL Qgflwefcvenew
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195. Identify the correct reason.

Stability of free radicals can be explained on the basis of
sflune snremseng iapLWTETD &reueyb.

safl o museiien Howssambaw Spsareupmer THer  igriuemLuid

edleméEemD ?
(A) Inductive effect (B) Electromeric effect
sHTHS0 edleneray s Crrbwfé sfleneray
( Resonance (D) Mesomeric effect
2 | aflensa] BCerGwMs sflenemey

(E) Answer not known
aflenL GgRlwelerena

196. Match the following :
Gereumeuameuhenmls GlLr(prsgs

(a) SP? 1. Ethylene
sp? o B Sein

(b) SP? 2. Acetylene
Sp? cmgﬂuorsﬁsirr

() SP 3. Ethane
SP &G et

J (@ b (@©

( 3 1 2

(B) 2 1 3

(C) 3 2 1

(D) 1 2 3

(E) Answer not known
aflenL Ggflweldene
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197.

198.

Select the most stable carbocation from the following

SereumeuanpPalimhg  Waeyd  Hoewnar  sriuer  Crmler  ewellaws
CombhlsHhasem
A B t

CH, B CH,CH,
(C) t ( +

CH;CH,CHCH, (CH;),C
(E) Answer not known

sllenL @gflwelldena
Complete the sentence by choosing the correct option :
In heterolytic fission of carbon bond—carbon.
gilwren Lglenas CarpdFsHss ursSusms Py &HeYD :
gTrueT-smruer Fwwdn Gareller Qumps,
(A) Only free radicals are formed

safl 2 muiyser wl HGWw 2 (heurdlemmen
(B) Free radicals and cations are formed

gafl 2 muysear wHmb Criller weall o (heumdlermer
(C) Free radicals and anions are formed

safl 2 miiiyadr wHnb erdmdlenr Sjwall 2 meurdlemmen
( Cations and anions are formed

Goirdler sywefl whmib erdliblen el o (meurdlemmer
(E) Answer not known

sllenL. Ggfwellcene
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©199. One S and one P orbital are involved in hybridisation is called
hybridisation.

e S wopmd @6 P ondiird soulagdad mhuLbaremar
sOUAIDTESD eTariuBb.

(f/ SP (B) SP?

(C) SP? (D) SP®

(E) Answer not known
flenL Gzflwaelcrenen

200. Which of the following hydrocarbons has the shortest C-C -bond

length?
SpssarL arpg @ant Crreriuaie agear C-C Qevemiiy Bemb Gempey ?
(Ay CH,=CH, (B) CH; -CH,4
CH2 = CHQ . CH3 - CH3
( CH=CH (D) Benzene
CH=CH Quen&er

(E) Answer not known
cllen Qs flwefaenen
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